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functional groups. The reagent consists of a solution of

silver nirtate, ammonia & some sodium hydroxide. It was
named after its discover, the German Chemist Bernhard
Tollens.
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= G (EIIE F9? c.D
1717 X)) = =7 Rl 5 Bisiogy = r. Koch
A x < —2 B.-2<x< \ -Or. Elie Ma
C.-2<x=<2 D.x>4 |, Cruciferae T T € G- | :“’;:;BIDr,F_
Ans: C(—2<x<2) A, e B. Ty B s
Solution: Fsfgn e et @@ value O ST SEA LS c. ffergar D.w . qm::
e Ans: C (FifrFm) 5. M«
:ﬂxji i et ¢ T A | * GH.shuy
_) X -20 _— s, Poaceae /Gramineae - Wit werfiny L O T gfrg
:; (: :’s)z(x s s Malvaceae - =S A, ASD@rgilh
Bt _f(‘) _ e o, Solanaceae - 3 | B. Aspergill,
it 8. Legunminoseae - F*FTT C. Aspersill
= =y g
W x < —aor,x = a e. Cruciferae - BT | D. Sacchare
=x<-2o0rx=2 2. fsa @@ o2 Ans: A ( Ag
18. -2, -2i wiber b wdrrd fefa 21 A, 4T Gt 2 B e
A. /4 B.2n/3 B. st 3125 Gl = o oo
C. 5n/4 D. n/3 C. et = 7. r_‘w;fj;:’
Ans: C (5n/4) D. *[51 cAls =H A, T .
Solution: B. ot
An _H
l.z = x+iy@=tan’ yix,r=/x* +¥? AT : C.
2.z = —x + iy 8 =n-tan" y/x o o Tt e Ans: A (o
3.z = —x+iy@=mntan'y/x o * T AT .mmﬁm T
4.z = x—iy@=-tan’' y/x o T Tt . *  TGTDR
Here, x = =2 ® .wﬁﬂﬁwiﬁwm * MTAT G e
P « oo R Gt .W“E'ﬂﬁm 5 E
= —n+tan—1 (-2) e A TR E
= 3. FaE I FafG? : . Wio
=) /4 & B. 8
= 51/4 v A @ .8 *  Diplog
. 1-sinx L) C. it D. sf *  Staph
19. lim =7 o
x—mw /2 COSX Ans: C (\Bﬁ) *  Bacill
A. 1/2 i b1 b ; L. - *  Comi
et (i) wrarerd, (i) arerer, (jif) cerent o Spin
c.0 o aUBTSICt AR T APTO, TSR o, gt 8. HIV 75
Ans: C (0) R o T (A TATEE OSSR 7w A. DN;
Solution: Following La Hospital DLaw, wrEl 999 Limit « TSI AReTS: ST O, W, afee ofy, ] C: Sth
value & math @z 95 T (iR~ or = it | wdie, 7 0 T2 TR W@ A, e, T, Py, G
0o 0 o ™= Ans: B
La. Hospital Law apply ¥4 31t | Y Lo o T 20 | TR
Here, (1-sin w/2)/(cos w/2) =0/0 + wrstercta fe: wET, Jlt, W o w s | 9 e
So, S| A Fore
lim = 4. faame B can
— fz CosX .
sny2 A. TeRibaIeE cnfewEe wefife Anss €
S0 B. form e wfifier aon
=0/1 =0 T
La Hospital Law @7 ¥ Z0R #7 8 Z@ SEACHI C. form crfewize wefifaew ({"
Differentiate 3 | ; D. TewiiteE caifewrizs wefife l‘;i
e*(1+x : A (@RI itz ST ;
20. f—g-—)dx a7 T - AnszAt . Sofie) 55 i
cos?(xe*) UTs S TenA A b
A. sin (xe)t+c B. cos (xe*)+c IRRI = International Rice Research Institute. {
C. tan (xe*)+c D. cos? (xe¥)+c BRRI = Bangladesh Rice Research Institute. 10, T9
Ans: C [tan (xe*)+c] GMLC = Genetically Modified Crop. - &
Solution: xe* =z : 5. fowam Premafir ag 999s @ A
=) ei(xt1)dx =dz A. Dr. Maksud Alam B. Dr. F. Sangel
Now, |




P

. wraEiEe affe Fse @M T e e @y

C. Dr. Koch

D. Dr. Elie Metchinikoff

Ans: B (Dr. F. Sanger)

=rnE

» fiiam Pt @@ @99 D, F, Sanger,

o oG T Pl wer by S S T -
&, WA WIE @ B L |

s G.H.Shull S0 G- =rate wfawm o |

A. Aspergillus niger

B. Aspergillus flavus

C. Aspergillus oryzae

D. Saccharomyces cerevisiae

Ans: A ( Aspergillus Niger)

WYz ST e

s Agaricus Campestris 1@ B ¥ 4919 |
«  Agaricus Xanthodermus &% apmra |
HHGERE (IO -

A, TIEE @ (FR0E IS AMETA

B. TEgfE @ cmrern (Eery s

C. DI D. (ST (STE 4TF
Ans: A (T @ (53 TTST AEME)

B. wferes (@7 @ MEEGNE @
C. W TEa @ AEHET @

D. fagw 9 ABELS €7
Ans: C (T '@ FIRBILEA (297)
il

(i) wmffere: feme + w0 afie

Y

fofos
+

TAED
(if) arRTfEfems: Fafaizues (e aerE) + Fhe
(i) Al e + G+ e«

11. RNA TS fza e el Sefgs ans?

A.UC AU B.AGTC
C.U,T.GC D.G,T,UA
Ans: A (A,G,C, U)
anIis RNA T8 — Adenine (A), Guanine (G), Cytocine (C)
W@ Uracil (U) 970 |
DMNA TS — Adenin
Thymine (T)

12. fzz &= i wffers fde = =
A.AA , AUG
B Uu, uuG

Guanine (G), Cytocine (C) €32

. CHeETET ATEGRE (TS (AT @92 (62 1 A : A 5
LS o AT | %’ UAG, UGA
"]m‘ «  TEmE: Streptococcus lactis. & . GAC, GGA
R et e e w C (UAA, UAG, UGA)
e Micrococcus HTE- (TP a8 7 I3 410 | \
o Diplococcus TTHLT- (IS 3 TR CHIETH e ) s UAA, UAG 43t UGA T <11 70 Stop codon | T 2T
« Staphylococcus G9TS- CAMIS amwﬁww ST GG <% A A S S |
COITPTE TS I | . R e (AUCG) fifey ST vefd e tefi
e Bacillus (raTe- FErpfs @7 T | e Y 67T e AT wferE Fod @ | e
e Comma/ Vibrio ¢TTe- F17 (,) ST | é fos UAA, UAG @2 UGA ifircert affs fred=) <o =T 1
Spirallum GTTe- FEIgfea 7wl | é 13. ff e simee FrEead <& = -
By 8 Hlvﬁmmmm A. TaATES G55 B. firefe affte G55
A. DNA Virus *A Virus C. ufE G55 D. =maEs 655
.‘.w‘ C. DNA & RNA Virus  D. Influenza Virus Ans: A (@SS (559)
U Ans: B (RNA virus) e
) s Tenfere, TR, HIV Zerifis el SIRams RNA 9 | o e, T R, CTEes «t fo e 6
w9 rere e ey v FERAmOTE T OIE 9 - e A T FafG e SR ARG |
| A, feemenfea B. TeFTATeiGe o @ AEs e W © U eERs 2 A
C. Eranats D. BTG M1 |
Ans: C (213rstenioe) 14, FETERTE TSR ST 9ffe 2E-
s A. Cystein B. Lysine
&ji]ﬁ@ﬁwmﬁﬂeﬁmaﬁw+mm@w C. Lucine D. Arginine
(i) arriva canfom st (eifbT—s FTATGRCED + 73T €T Ans: A (Cystein)
(iil) foreen cenfbi—s Fifors + cenfom AT
(Iv) TRRICT cefBA—» e o + cerios 1, AR S afre: s, TR, T
(v) TROTCE canfBA—> RO + e 2. Feaw i af: SREfrf
{vumcmm-smﬁwﬂﬁwnm 3, mmﬂmmmml
1. ffore-a 3 & IS afTs Tel Fwd @ 4. mm_ﬁ_ﬁr,gﬁw;ﬁﬁﬂﬁﬁhemﬁeﬁm
BomRef SAES AT? 15. iw;’:fw force et e
A 8 = O D, 4n
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Ans: C (3n)

o Cofd : T, TF, W T, o1 TP, WV |

P,

iy
Bangla Lii
. P AveEn wub e By, B

L] QryoE > N Bofgfy aoure? K. off W‘-——-—-—\:
fozrms —» 20 5 Y
e > TST=nl A1 =2 an ’\.- vfe B AL 12.1:@
myrdta sifs - C. soft .
16, QAMEMHLT ‘__"'r\‘ fistie Ans: A {b‘m) A s
AL Cucumis safivus ! : . - : ‘
3. Oryza sativa 7. e GUATEETZA T ekl 1‘:‘“5:;::%; (‘\m
C. Zeamays ; A, dha2-dpAad [). e -3hy Ty
- L.l}ps_\-ulms Snulars . C. snas-ddAC Y 5-5}»% %
Ans. D (Copsychus Saularis) Ans: B (5522-3833) ?
w .
T -  Copsychus saularies 3. m@mmm? t:m -
B o Artocarpus Heterophyllus A, e A 2 EW%!,‘ 14, 5
ow@ -  Heritlera Fomes ¢ e B D. ﬁfﬁm% %
wm 53 Menpgifera Indica Ans: B (2 SUENCATZ) ¢
L0 S panthera Tiger 4. =i Pauraa sHffa omf for An
i nymphaea Nouchall . S B. % e
ooffer el — Ll_ip_:nﬁmﬂc_@.ﬂé C. P D. A
L7 iR B.30 Ansigh (77 C
A2l 7o B s e A
C. 40 D. 50 5. o o e
Ans. A (20) D. =m A
e BfEw - CFTTRTCATT FRHTT _ AGE . EDsE ¢
= + - 38 * THC- DY o Ans: _ :
* S5~ 38 « T3 - Bb e _-:Wﬁ{ 'l = M_.\l , #
+ Brabl- 28 = HA 8 [RURUE 7.5
o Q20 o TG . 6. RS FESt @ ww Ahe? )
B T
o - 38 N A. T . TFR :
18. @ &g NADH; (2@ Teoig 23~ Q C. ofmrsa D. s ;
A. 1 ATP B.2 ATP Ans: D (I179) ~
C.3ATP D.4 . ‘mﬁmmww-amm%
Ans: C (3ATP) $ e Y < TR
Ikl B. Tsdwe
. 1WIGTP=1SgATP AL TS & 19
s 1W{NADHz=39g C. Tres . fas g
o 1W{FADHz=2 Ans: C (Frst®)
19. arETEEEfe 9- 8. ‘AT offe e SRR TR T,
A. frefFaet B. s1=if Ifere CTIARY FIT- 97 1 7 (IF Fent Tany
C. S3eTaET D, WEGETe A, T@W B. fasm 20.
Ans: C (A2B12Te) C. T D. #ww
o Ans: C (3%
o STETEETERTT AT @ WAT BEY e YRS auT A | " ‘«sﬂ%“ﬁg )
AETTIERT (10 RIS 906 | .
5 T S AT S N A. TIE G F1oTe B. e g
o ETS 90 MEOETE SRR 31 fFRhrs 7 | C. fr= seie D. wtmify L.
20. CA veF “frea Ira- Ans: A (TG G F797G)
A. S B. & 10. “srsieifess RSB’ #10s I (AT e &
C. @i D. g3 A. A B. P
Ans: D (g1) C. o D. el
R Ans: C (F#er)
o Ca Tfem: T, o . iy —

A. ©, TG AT B. @R e @

C. feifstormer 3aifay < D. T —

—
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A

A. Swbe FHTE B
i D. S»bb Hige
Ans: B (349 FmE )

D. =fiza armrenyym
Ans: A (ﬁﬁwmm)
14, “Toiwl woie T - 1z B 7y

A. Fo% B, yox
iy b D. sy
t\ns:B(Tftsg)
ls.mi{ﬁ'@vfmﬁvﬁ?
A, wfy B sw
C. 3=y D. =<
Ans: A (=f)
JG.WWWWW?
A. wpf B. T
C. b D. terbfy
Ans: D (tsif5f)
17. o1fF > 5187 ot e @l AfasTy
A. wEsfs B. wfffs
C. “rwafe D. fazed
Ans: B (wif#fafifs)
18. Sabotage- *mifb7 “feemt @mG? b
A. Tafee B. W
C. w@e D. wadrs .
Ans: D (wr@drs) é
19. "w=if$" i1 i Tty
A, fas B
C. 74 &1&
Ans: C (7%)
20). T SHEITE IE S @ 90
A, AFS B. gamadl
C. wEfrm D. fafw
Ans: C (=)
D L

1. Change the voice: “Who taught you English?’
A. Whom were you taught English?
B. Who was English taught you?
C. By whom were you taught English?
D. Whom was English taught by you?
Ans: C (By whom were you taught English?)
TIT: Active 9 who 9I%C passive FE 79 by w.h.um TS
=y | T2y sentence f6 past simple 9 fe=t 1% auxiliary verb

& were 9 |

2.

* D. five hundreds word

5

@andoncd in 2001.

6.

Page |11

You said to me, “Woulg you help me, please?”

— The indireet speech of this sentence js:

A. You politely asked me if | would help you,

B. You politely asked me that if| should help you,
C. You asked me that whether [ would help you.
D. You asked me if | would help you.

Ans: A (You politely asked me if | would help you.)
IR Imperative sentence ™ Direct T indirect v frs
T please @7 “ffamrs kindly 1 politely e =

We were asked to write 2 — essay on child
labour.

A. five-hundred words

B. five-hundred-word

C. five-hundreds words

Ans: B (five-hundred-word)
T @A (five hundred word) =% essay (Noun)
modify ¥t fum aff Obj, =@ Adj awm = sles & ZH T |

Such remarks ertainly derogatory-your
reputation.

of .
P

to)
lding has no regular -since it was

B. mentainance
D. maintenence

A. maintenance
C. maintainence
Ans: A (maintenance)

T4 Maintenance (T¥9%9) Main-ten-ance
Lieutenant (T7w=11%) Lie-u-ten-ant
Machinery (e™Pm) Machin-ery
Malnutrition (==ff2)
I am going — this afternoon.
A. shopping B. shop
C. to shopping D. to be shopping
Ans: C (to shopping)
T ¢ feg wars men T @ going to T9EE T | @3
=1 shopping (Noun)
I will wait, until Popy---
A. comes
C. come

Ans: A (comes)
<grm: Until 3% sentence @9 main clause & future Tense 4%

= subordinate clause f5 present tense @3 2 |

B. is coming
D. will come

8. Ihave a cup of tea after my breakfast, -?

B.don’t1
D. won't

A.dol
C.will I

Ans: B (don’t I) .
r4yt: TrEg have 9T main verb ©1% auxiliary verb 7@ Do

&=z sentence & affirmative e Don't TA |
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15, Transform the following into a simppe

Ten tons—a heavy load. ke centence: “The bag was so heavy thy,
G . S ¢
Ais D. have carry 1t !uifl.l\1
C. has L A. The bag was 100 heavy for me g i e
ANy A o aee, Wait, Money gunfan o verb B 13, The bag was so heavy for me 16 ¢y, * A'ir"“ fina)
wﬂn.ITunm Distance. . C. The bag was heavy and T couldyy Qa- B. The mog
singular =01 i ) i3 < ) C. The w
; ¢ bag was very heavy to cg he enid
10, Paradise Lost is written by-=. o - o / 31( [ : . e, ; D The Il'“l
A John Milton Ans: A (The bag swas (oo heavy for me 16 gy Ao ine
ORI MG pren: BHEATE sentence 5 complex @ =z | g Ty, nss A (T
]3' l:m“d ?13{101\ complex sentence T simple @ #fFrs wmry tm}"'-'hu,l
. Francis Bacon — ‘%::
D. Willian Congreve 16. What kind of sentence is ‘Do or digry 1
Ans: A (John Milton) A. simple B. Com
s Macbeth — Willinm Shakespeare p compound 5 Fxc[z]cx
i o That, o
Ulysses — James Joyee y ory | i
; : mpound im
War and Peace — Leo Tolstoy s pd ente}nce o a gf | V1 ey
Wealth of Nation — Adam Smith ayramt: Compound S = Dring; P
You never can tell — George Bermnard Shaw o[ | AHETS, and, or, but, yet, so, lhcrel'ore‘ 4 L I e
I1. When she insisted on —at her place, 1t made me not only, but also Zoifd co-ordinate mnju“::?‘n 4| Tmemy @
: inci kol A
uncomfortable. principal clause T% \ G |I f;ztﬂ =
A. me to stay B. my staying 17. Choo correct S!:ntc.nce. s qms;’p =7
= . D. I sta A n deals with rice. [ L
C. me staying . I stay . e BT e
. ice.
Ans: B (my staying) 3 man deals off rice \ § | SFf <
pr_ he man deals in rice but deals With i | 9| ¥ Taw
15 | 10 | *Fr=ih

Approve of, (be) better of, *Insist on,
Depend on, think 8"

ayrt: feg g verb + Prepositions ager st gerund 21 ¢
- %ﬁustomcrs roughly 0
: ‘ D. The man deals on rice. L LT Vo

Give up, Succeed in, Count or, Ans: € (The man dels i ricebot dals with s sy
9 : b* ' is: Q\ et Deal in— T30 4 R
12. The nc.mn form of the ver Bva\n::yr.l - e Deal with - T B =, i
A. var.mnce . val % 18. The secret was brought to ---. 5
gy K > A. night B. light B.F =
Ans: A (variance) . sight D. m ;
et Vary (verb) - Rfeg =1 te noun form ¥ - Sight - might C.F-:
Variability g @ €2 arer IS AT Ans: B (light) ‘ )
=T AL =qrsT: Brought to light — #/F1*® Tem D.F
iy v Bon voyage — wish a good trip.
13. A synonym for ‘mor w= Tongueyin cheelk (¥ B13) Ans:
p— ]];3)‘ dying French leave (s %1 7% | ==
£ etatin ae 19. ‘Expatriate’ means: S
Ans: A (diseased) : , i
<t Some similar words: A. One who lives outside one’s own counry 2. @rar
Morbid — (armges) ——-- Diseased B. one who is an expert e
f Extempore (ARwA) - Impromptu C. one who is excellent in math Al
' Anarchy (ars) - Chaost (¥1) D. one who excels others C.(
J Queer (F®) - 0Odd ;\rr:
| 14. An antonym for ‘climinate’ is- Ans: A (One who lives outside one’s own coum| e
|- A. oust B. include mai: Expatriate (2P) - one who lives outside wsn
| C. defeat D. slay country. (Emigrant) "
Ans: B (include) [mmigrant (SfSTE) - A person coming o a foreim2 c
g inte (BSTS S ey Liclade Rt ‘Aﬂlf‘::}l; th: - fawa ) - A residin: inah'i a
- 1 oreigne = erson rest
*Perpetual (67T ------ Temporary (wrEr) gner ( P §  w
Atheist (1) ——-—- believer (RPH) coumry‘ < _ s 2
Industrious () ----- Indolent (S¥) 20. What is the meaning of the expression ot
line'? ——
___—'-'-'./
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Pape [13
A. The final step

AP Bottom line - (oo f2) last line
Outand out — thoroughly

At stake — (Frmi=m) - endangered

Al home - (w)

Ans: A (The final siep) fenl and ae — (30 dw miv)

B. The most important mformaution
C. The end of a rond
D. The line ol a book

Bill of fare — (smrfoe) list of dishes at restaurant

Noakhali Science & Technology University
Sonapur, Noakhali-3814
Admission Test Exam

Session - 2018-19

Unit-B

Time: 1.30 hours Full Marks: 100
| | siaaareys Saaeiing e s Saq fifers ware 20 |
2 | TR AL SAE T o a9 AT A s s oo |
3 | g RS v S A0 1A, mre vEerer 24 o
4|mm‘s’mﬁmﬁnmmmmﬂw«ﬂﬁwwmfw‘é‘awwmﬂwrm?n i
5 | epgermaa I HI suTeEITy wse) W wa |
6 | I X0E (A e RrAn fewra Fun st famy

7|ﬁmwﬁwmmmmwm(mwmaazwmwﬁmm“cﬂwmmmwmww
A WCHH FAE

8 | SfE srfrwr =t va 40 | &
O | ©¥1 Tarad w1 wwa S AT A | o

10 | =&t =dbsr cors e s frg |
11| s&ret wtaw zewa 30 MG @ et s@mmd 20 s sa0e s A c

Phy:ics 4 , P=20+3j—6k Q=mi+2j+
- Bl i ’ Of =0 m 97 7 % zr, P @ ( oaiaa 3o mw
A F‘= 1 q192 ?—_- o, iy
’ amey " 1@ ?
2 1 q1qz =« A8 B. 15
B e s 3 6 §}127C(27) D. 32
= _ 1 g1z = v s:C (.
Bul= amey T r ° @ B.§ =0
D i 1 gz » =2 xmii+@BXDLj+ (—6x10)kEk=0
dah =22m+6—-60=0 ==m=27 !
o . 04z 2 $ 5. R e grife e @l Stz ax AT i
amB - 50 TR s o e wte
T T F o= o A. @ B. G
.-.ww,ﬁ:ﬁ.%xf C. Zaw™ D. g5
. A g g offs Fe enEe om oE 99 1F Ans: B (crmE)
mm B 023 m—'mﬁ laﬁsﬁm
A.2s - L.
C.0.02s D. 0.002 s ﬁtﬁm—:’ T AR S wighe fef
Ans: A (2s) T s SR QT R
EiliH sty = w-umae @ -
e fAare SAER e, = 2 sec 6. pposiivtiuty B
. A=6i—3]+2k=, |4] =? P D. T 3
A0 B3 Ans: A (3fs @ef 2f) &
C.v31 DY 7. @6 40W ¢ @36 60W mzﬁwﬁﬁ AT
Ans:D e 50 & Aifels @ e s -
[T |jl=.‘||62+(_3)z+22 A.40Wmﬁ B. GOWaﬁ
=36+9+4 =7 C.. BT T -

A Complete Preparation for NSTU Admission

L ——




1

e T 3 .40 ms—
D, e Segeret (S FRawI Ans: C (40 ms™! )
AT
M czl\ﬂ{::.-]a‘w“:l :L:?:L it ol it am oE el s e, v = |
! = Eﬂm!;_‘ 3
™ L
8, :‘F—“ :]'pt' wf sifgard) zefaa s o e A esifee " 4;‘} e
w7 - 14, B3R A7 5‘“‘_ s 20
A, fard) 13, farard) A, [MLT?] B. M-,
C. reniE D, Tt c ML T D. [M1-2q.,
Ans: D (swrnsh) Ans: B(IML™'T™ zl)
e gy el B a7 9, Y——X—
[r- Giew | facor smiga csibr, ome- Al 2 T TIxL -T2
[(n=vrr | wwr&rwmgﬂrjm”g_m Asyy AT 1AL
9. T FrEa Sfeas 2 we @ #6 AR wEAE 15, qfa c#Br gt fosa fs 3 ms—
wBHE FHACE WEE (@9 3@ A7 mquﬁ'«mmnﬁrﬁm¢ms !
A. 15 x 10% kms ™! B. 1.5 % 10° kmv ! ﬁﬁﬁﬁ@l(ﬁwﬁﬂﬂﬂwﬁmmmﬁ !
C.3x 105 kms™! D.3x 10% ks~ A.7ms™! B.8 mg—1 7
Ans: B (1.5 x 10° kms™' ) civaRET™ D. S mg=1
QT Tenl SIE jt = 2 Ans: D (5ms™")
WER @, ¢, = 3 X 10% ms ™! i v = JvE + v
mﬁv‘m:! wirREE @, o =7 =37+ 42 5ms~!
a=2 Sy = 16. aH-af1
=207 i 5x10%m A. BTG B. 315 iy
=15 x 105 km c 7 (i D. fretrey .
10, = s RSt @rameza M A A, S Lpys =7 @ A (8 =foa 3 s
A4 B.2v2 G- T B~ T T oy
C.42 D.2 ﬁﬁmﬂmﬂmﬂmqmﬁmmmw]
Ans: C(4\/—) fora e 712 i
s =84 60 A. e 95 AT Sota
_; _N— B. W41 767 TSt ares Sorg
¥2
11. @5 Frreaaias 97 37 Oy | s & o QO KIS O erafn vy
Samp T FEER @0y S0V D. St 7fod Sresmarg Sof |
- Ans: D (ST 954 STeriar o)
A 10A T F:é_i‘.ﬁz
C.10A here, ]
Ans: B (1 A) F o q,q; (ST AR Som frdadton)
W=;£.E=f‘* here; Fxr%(ﬁmw%ﬁﬁ)
‘,_EEI::;EP Ep =10 18. 9% Tz @I JOTE IHNR Wy
= 5 h=5 SI- e
10x5
=—— =1Amp E; =50
5 . S NI
e =2 2 B. @ sqy o
. sifexifes sy D
12.5.5 Q w@nes @oi eiaa w45 e SA ofR Smin 4@ P . wfe s
&RIES 0T Toofy ©Iro wAfw vw? : (@ﬁﬁm S AIW)
UL (LY T I TS Gy
A.41.25KJ B.25.41 KJ PN, » it
C.825KJ D. 825 T | SR R
Ans: A (41.25 KJ) . o
ns: i 1 =, -
W H = 0.24 12Re QI;kgT?m@4m%mmwm@
=0.24x 52 X 5.5 x (5 X 60) ms™" T (IR Z06% | O ToF B T3-
= 9900J’ =99 k)’ ~ 825 kf A. 10N B. 20N
- %M g waE AR y = 10 sinw (200t — C.5N D. 4N
5x) T waHfoa @9- Ans: C (5N)
-1 EilkiH
A. 800 ms B. 400 ms—1

T =mrs =g

L r_afs-!m

A 100
C 120"
Ans: D (5
M rad

PCly @ om
AL sp
C. sp?
Ans: D (s

A Complete Preparation for NSTII A driccs o



g

20. @ cafSuT AR sy sy,
A.10° B. 50.30
C. 1200 I). 57,3"

Ans: D (57.3%)
AT 1 rad = -l;? =57.3%degree

Chemistry
1. PCle @ o7 waerg stemme ELIEH
A sp 3. .\'|‘|‘
C- sl]: ]')_ -\‘[!"tl

Ans: D (spid)

;A X = ¥4 [caremet womm o syeuyy 4 AT e it
tﬁmwﬁmwwnmmmmmi

FRrarst cter e O T T 7

XN=1/2 [5+5-0+0] = 5

ﬂammwmﬁ‘mmnmmmﬂ

Practice: NH;, H.0, PCls, BeFs, PCl,,
XeFs, SF,

mﬁrwmﬁacﬂmmmwmmml

CO.x=2(4+0-0+0)=2=5p
Practice: SOs, CO,, CS3, XeO;, S0,
GRS TSt 2612 A St e 5T
PET T

POCI3, x =2 (5+3-0+0) =4 = gp? ls
Practice: XeOF;, ONH';, CH;*, CO%
2. & G SESTE gRtee [

A. CH;C-CHO B

C. CH;CH:CHO &;cm

Ans: C (CH)CHzCHO)

wwﬁﬁﬁrwmwwmﬁﬁmmr

Y NaOH
CH;3-CH2CHO+H-CH,CHO ——— CHx

** wmfveear Rfer o HCHO #rt are o 2o @@

x=;‘1w@nmmmmwmmm+amm

= W2ET waf{Brer svpay
Ex: CH, X=2 =8P
i 3 =gp?
X=2(@+4-0+0) 4 =gp!
=64 =Sp? 5 =8pqd
6 =Spig@?
7 =8p¥d?

w:wﬁ:rmmﬂwmwﬁmrmmw

S

736 WITIERIR erare |
3. @R ersenEs @ wifSerets R w1 s
A. fow 3w B. Bt
C. It FEs D. feafadare
Ans: B (5rer) =
T @R ACET BT WA Rt e =0 | Brieres
beaact 3Mg0.45i0:.H,0 :
4. @ €@ IR FTw RNA 1oy
A. wr3tare B. 13ware
C. feafgemziee D. fesfmrzeare
Ans: B (a13tre)

Page |15

T RNA 27 Rihonuclic acid w1 azme i oy sifys

acid 1 fesf

.I)NJ\ M Deoxyribe Ii

i

T e o

5. AN refars FIsa cat Nl ayazr w41 7wy

AL o-mmfa o
C. smferzfers afrs
Ans: C (wnfesns s afsrz)
AT =1yt
1(:” —G > NI + (CH,COy) 0
(8] NH— CO — + CHLC
<8 > NH—CO —CH, + CILCOON

B. s8.=ifara cmem
D. crmE astm

p 0-0C - I,
ol coorn COOH
(C”';::i]’('] Ag/' CHLCOOT
e
Acid
6. oOrEs 4G ZICAF AT 5 Sifa wrg oty
[<3AT TR
A. Cd o B. As
C. pg D.Cr
C(Pb)

AGITE Ph 1w e am | oo 75
& A et wisfre = o

ischarge:

Anode: Pb+H,S0, > PbSO+2H" +2e"

Cathode: PbO;+H,S04+2H*+2¢- =2 PbSO+HL0
Charge:

Discharge a7 &%7 |

7. F S sp3 St e e e ws)
A, 109.5° B. 180.5°
C.1253¢ D. 1]2:52
Ans: A (109.5°)

AT

CHa, SiFa, SiCls, SnCls, CeLy - SP? - 109.5° - swaeram
NHs, PHs - SP; - 107° - fasti forafis

H:0, H:S, SeH,, FeH, - SPy- 104.5°-Vv Wﬁiﬁi

8. 10mL 0.1 M NaOH &3t T airy NaOH 92
A.0.004 gm B.0.04 gm
C.04 gm D. 4 gm
Ans: B (0.04 gm)

T 8 = (1000X W)/(mX V)
W=0.04 gm

9. A (T TITEET WTE?

A, e

C. oIy

Ans: D (=71e5Te)

AT OIS = TS + T
TS = TS + 4T (1,4 T TE)
BTG = AR

TSRS = ZTFTS + STEAIFHIS

VY 80-B¢ Y% FTELOIE 4T |

B. GEpreE
D. Sirbe

A Complete Preparation for NSTU Admission




10, Sl e O AT T @ St
A. F=CI=Br=>1
C. I=Br=CI=F
Ans: B (ClI=F=Br=1)
[

B. Cl=F=Br=1
D. Cl=Br=I>F

i Tl sl (kimol)

| 328.8
348.8
324
(fst 295

=5 1 mol oTe fmcer-Riftas s ermg 1 mol
Srerhr A TF 200 1 mol g W SIS ST S
qﬁmmvﬁ‘m%ﬁﬁwwmw‘mwmt
oty RS AT (UEE W RETAGA WiAfE G 97 T (0T
s o =)
Fifearw: F<Cl, N<C
1 1. =iarzEge Fi7
A. 10% H:0: solution
B. 20% H:0: solution
C. 30% H20: solution
D. 40% H:0: solution
Ans: C (30% H:0; solution)
T
efEEr - KNO;
TopTT =T - MgSO0, 7H,0
sifEesme e - CO + N»
fEET - HaS:07

T CPEE WHEE - 5;0;
AT AFEE - 30% Ha0 Solution
e SRR @R - ALCl

T 95 - Fe, 03 b |

2.5@n@ﬁt@?2@ﬁﬁﬁﬁﬁﬂl{ﬂ§3\ LAET=?

A. 11.75 gm B. 12476 gm
C.12.95gm D9.15 gm
Ans: B (12.76 gm) )
A 2KCI0; - 2KCl+ 3 =il
2 mol 2 mol 3 mol
2(39.1X35.5+16X3) 3(16%2)
=2452¢g =% g
96 g O, t=fa 77 245.2 g KCIO3

;. 2452x5
5g0; ° T=l2.7ﬁg

. faSioers fafaar Swreae comib?
A.2N;0 2 2NO + N,
B. 2NO + Nz = 2NO;
C. 2NO + Hz = N;H,0,
D.2CO +0; = 2C0;
Ans: A (2N20 - 2NO + N3)
1T: RRFER ST ST b R e
R s [X][Y]°
faferama & a+b
e e tafier:
— fafem o =z
— fAf72 Satteet 7=f Reams s Rfewnren epfes v
©oi S ST

IEfE mEb - Zn0 ..’_

S

—, g AT R ez gy
pesy ot o e
_y faft 7w | 2NO + 0z 2 NO,
_y o7 T G AN i
INO+O; > 2ZNO,

INO+CI; = 2NOC C.CaC
2NO+Br2 > 2NOBr Ans: B
2INO+H; 2 NatH,0, mh&
14. Ag GG ---- G2 Fnrruu;:
A. s block B. p blogg mgh?_;“;
C. fblock D. d blogy e
Ans: D (d block) A B
artam: Ag > 18%2872p%3s73p 3d %4524 564 e (:- w
srfrem BrermaeT d block @ &t wats | ’
s block = us!"? (AT @ T G :rr::}
p block = us?np'* '
d block = nd!"? (SFrE=7 &) CiaHy,
fblock = nf'"! (F@eTTEET GN=N) (=
s block = H, He, Li, Be, Na, Mg, K, Cy (38 CeHyy
p block > B, C, N, O, F. Ne, AL Si, P, 5 ) £ e
d block 2S¢, Cr, Fe, Ni, Cu, Zn (85) (o e
T bmc&.lhanide and Actinide seres Q) C' 6
IS.WWWWWW% e
gﬂl é,@ N B.C,S,N b St
¢"c,p,0 D.C,N, p B
Ans: @G Afow 20. @@
i — Al
C, S, P a T2l (741 7 | = .
C 9% (F0E JTHEE, TS An
S aa ot SRl A, Wit ey o
P 7 U (#1IfES FHAFER, (48 TAwA ) =
egfere frg Gt 9% a1 STl Fref T gy =%
Sl T

[(Allotropy)| FEFTST ===z T, P, 3, oy
1w @ FrTfE
ferers s wh o o = 1 feera wavmmg:

—> T AT T TR s ww mw

“fary RS At e _
— aﬁmwﬁwmagmmml
16. Aites 3 toRiTe (@G Tage T2
A, -3 B. WigFm-y
C. iE=-5 D, TEE-yY
Ans: B (F1279-v)

T 3
Melting Point: 210-230°C
Density: 1.12-1.14 g/em?®
Hightensile Strength

—> They are tough

— Has well elasticity tustre

— Resistant to abrasion and chemicals such as &

and alkalies
| — Tg value 47°C , J
17. foeTa BUCes wawT @ited S0y o a9 0
7

A.NaCl B. NaF
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C. CaClz
Ans: B (NaF)
:!I'N‘Irs Sea salLt: can temporarily raise the pH in mouth
ol which makes it more difficult for bacteria to thrive.
\" Formula = Ci:H-CliNaO,
| Chemical Name=> Colagate Total

!R.WWW@WWMWWW

D. MgCl,

=Ty 27
% A, TSR B. 38fires
“\ C. SseETs D. =3rge

Ans: D (@1304s)
T B 7T s T T @ whms

TETEE
CiaHx011 + HaO ———— CeHiaOg (5191) + Coll 1506
(o)

CeH120s —— 2C:H:0H + 2C05
19. Wrwaw 7@ pH T?
A. 94
C.64
Ans: B (7.4)
[Tt A TS e ST R W | B
T 3Mg0.48i0:.H,0
20. e Fdifaam W= @ ey

B. 7.4
D.54

3. 3x45y 1S Beigran Sy

A. CHR: B. CH;

C. CH:R D. CRs

Ans: D (CR3)

A=A FAT S AT S 2o 20| i

ST Tt @: CHy>CHR (1°)>CH,R(2°)>CRy(3°

S A e 1920530 i
1 y=§1‘ﬁyﬁaam— a

Q'
n! (n-1)
A. o B‘@

1" n'
g E@ o

y qyn n!
Ans: D {(-1) x——--—-n+1} _ —
Solution: 231 a3 s et | Wi, y = =T Ya
97 AU n OF A 1T WGATAT FACS T ZACE |
e,
y=1/x=x!
Y= (-1)".n!, x™!

Ty

:_=(-!) x"+1

2. V3 sin6 + cosfa7 T AH-

A.2 B.V3+1
C.V3 D. V3-1
Ans: C (\f3 )
[Solution; T enf,
sinf @ cos@ a7 A @ G W | © 0 @ Tveg HAEw |

Mathematics

6= 0° 90°
sinf 0 !
cosf 1 0

“0=0%7m, V30 +1 =1
& 6=90% @M, V3.0 + 0 =3
& A A A3 e s |
V3 sing + cos0 mafla o

A V2 B. V2
C. \f:f- D. V2
Ans: D{\/%)

Solution: Jnxl’+5)r1 =15

=) x5 4 y213 =1 [a=V5, b=v3; V& > V3, a>b)]
s T

_IF i m s |

Whena > b

B, ¢ = (1 — h?)/a; ’l - :—i

Here,a > b

B.x =
C. gose.y = bsinf
[%’acosﬂ,y = bcosf
q =acos @, y = asin 0
lution: x T WTSET @ T, O AT T A
HPERTTF cosh A @ cos 00 = 1
W4, y W T qA T, T©E sind AeEy TAw FmeE
e,

X =acos @
y=asin8

5. T R IR BT (2,§)mma-
A(1,3) B. (2, 1/V3)
C.(1,1) D.(1,—V3)

Ans: D (1, -\f3)

Solution: to1=14 =717, (r, 8) = (2, /3)
r=2

O=m/3

FCEAT IF1F,

x=rcos 8 =2.Cos /3

=2.%

=1

x=rsinf=2.sinm/3

=2.\3/2
=3
(1,-v3)

6. zrﬁm=; ﬂ?@rmA“:? .
aegls 3] B.—3 [—23 41]
el ) p.-3[77 3l

Ans: B(~% [_43 _12])

A Complete Preparation for NSTU Admission



ey = —43 d12
AT = Adj(A) |A]
| -2
Bt
ar4 =2
I_"z[—-B 1]
7. f{x) = log (2+3x)- @7 (BITIT 998 @8 -
=i _ 2 -
A:Bf = (—5i%).8f =B
3
B.Df = (=2,00),Rf =R — (3}
2
c.of = (-3, ), Rf =R —{2}
D. Df = (o, --) Rf =R
Ans: A [Df = (—— oo) Rf = R]
Solutmn Tog function &% IR} sr<¥ real number,

\!Nf& IRr=IR

!dl!! Domain FIEH 0 SO TR

2+3x> 0

=)x > =3/2

) Dy = (-2/3, o)

8. %swsrﬁ fafre 799 <1 AR @Eb?

A= B.Z
g u

c.x D2
u a

Ans: D (—)

So‘futlon Wﬁﬁﬂ'm H=

©
m@mmmm ti= &
ﬁwﬂw‘r t=2u/g

vrgfrs_vw e i AR, Ve, DR SIS |
9. sin (cos' 1/3) — cos? (sint l!\/S) =7

o :/5 B.3

C = D.3

Koo cé

|Suluﬁon sin? (cos L 1/3) — cos® (sm1 1~/3)
11

Ir:os = cos™
3
| A A
|
!

= sin? (sin™! JB.’S) —cos® (cos™! JZ/\:’3)
(\/8/3)2 —- (V21V/3)?

= 8/9 -2/3
(8 -6)/9 =29

|

i
i
o

10, (% 2+2)8 a7 Regfre x <o a1 oDy
A.294 B. 492

1.1 +w+o 2) (w + w? — 1 (0?4 | 4

i‘
q
I D.9 §
Solution: A = Adj (A) |Al o 4 N!
e Ans: C (924) o ¢
6l 4=5) b ‘Salution: P i
. el =
And, Adj(A) g s p=q
Shds =0 e
= a =5

1 1
=(x2—-2.% 7 + ;3)'2

1
= {(X_E)Z}II
= (?C s ;}1:
=X
nee x™ (=1/x)
=) 12¢6. X4 (-1/%)°
=) 924. X6, 1/x¢

=924

A. -8 B. -4 N By
C.8 D.9 il
Ans: T!ﬁ_"ﬁquf'm 12 | B(—1,6)

C fre,

Solution: (1 + w + w?) (@ + 0* = 1) Gy P

A+w+w?)=0 o
wi=1 €3,
(-ww?) (-1-1) (-w-w) T
=0 -2 XgBw =0 _

12, x-+y =4 @AM x2-y*-12x-8y+34 :mmnhﬁ T
—rdf Ry el ? N5 s
AL1,3) B.(3, 1) o
€. (3,2) D.(2,5) A
Ans: B (3,1) "

o mEa EEE A =

Solution: T9CT @943 FAF AT ww g

et equation BT T8 T o T Shprm gy ] C-
ﬁWWﬁ“iEanswertﬁi S
Ix+y 40r,3+1=4(31) answer D
7n+1+11n+2 B Ak
13. lim =7 :
=00 7“-11"' Sol
AT B. 11 i
C.-121 D. 18 1
Ans 121 =1
S S L ,n+;+nu+2 ==
:Solutmn hm ey o
n+2
lim = 1“”{(1;) e
Ereiie i)
];= 117142 (041)
[_ 1“(0—‘!.)
11m112 = T
S R
14. “BANGLADESH” T R %

NOAKHALI ==6a e edie o on
A. 10 B. 50
C.70 D. 90

Ans: D (90)
'Solution: NOAKHALI x x = BANGLADESH
! lex — 101/2!
[::- 81 x x = 10%9x8!
=x=90

15, araf® fagrer arefem Wt (1,2), (44) 04
Wmc@mwz'

4_..--/.



'mw=‘x&[3

B'i\-{g(

lAx B

Ans D (_32)

F(2,8)

B

Am C(n2;32)
‘inlullnn Let, z=tan"x
|=- g lm+x1)

@4 DE € EF Wt 9071, BDEF wafs wrorafis |
m&ﬁwmwmwwsﬁmmm
B(—1,6)

=14x
.CM‘ 2 =
== x=3
C(3,—2).W-
o A (5,10)

=1

5

.2 TH+k @ 1-2j+k To8a 13T Tom w1 93F (299
G?

A. :k——-(3i-j SE)

c :i:—l—{— i- 2j+3Fk)

J13 (- f k)
Ans: A [t o (31

Solution:

i
2
!

e (3r. j-5k)

17. em‘lﬁwﬁﬁmw (e TR 7

A.2
c.1.9

18. If (tan~t )/ (1) dx =7

,c059+f5tn9 =2 ==, 0 =7

Ans D (2nm+ w/3)
St-J]uum_x cosf+/38Me
i UZcosB

20lim(1 + k)% @ T FS?
2041in

Iam or hm(l 4 a"}’
a‘a B

=5 il
= = §(1+2)- J(2-1)+k(-4-1)

—(3t— j-5k)

Ax B=,32+(-1?+(-5)*
LVas

ﬁvmc&sﬂ
A=t

] ﬁmwﬁ%cﬁt‘*_ﬁwv{@ﬁ?w“ﬂ

e o |
L st ey e R 'ﬁ
i qu TR ST AR
. ﬁmmﬁmhnpodamwm’

AnsD[tWTEW}m © e, AT, S, \




T Oz 97 WS

sz S B W |

wmﬁtﬁm_mmo;mﬁrﬁl
-@r@mvfrsimrﬁmvfﬁ?

o (8

A, =D B. FAGITET
C. syrICfRET D. WA
Ans: D (F97EA)

setcat e

« Na — C4 Sfirma = |
Co a:ﬂi‘@ﬁmﬁﬁﬁltﬁﬁ@mﬂ

e« Si —» YW
P —)WW@WWQWWWI

. K —» STl ST ReuE S il |

5. frsa o SouTCel @hReSH o7
A, SR B. etz
C. =TT D. TsGIfGe
Ans: C (sirarEfoe)

mmﬂgm¢mmm
W_@WWWW|

o DA FrOTIBE (Synapsis), azerers (bivalent).

.

. syEfa: GO (tetrad), TN e T T O W
. foraifoms S i I e (terminalization) Wil
arefS Ty

A. FIEECAT B. WA
C. FBACE D. siEife 316
Ans: A (FIZCEIC) “
e ; O M
. mﬁ=mwﬁv1ﬁﬂa;§lﬂﬁﬁ@mw;
o ARCHCIN : ST icidal bag).

=7 =ifeFTE T |

. HIEOGEIEE ¢ (P
. @:WWWJ

e M=mmm'ﬁiwnﬁmmﬂ1
i TRGEBORERT : FT! FHA/ AT T

7. offeft I T AT -
A G b-b TR

C. 1T 53-8 %
Ans: B (21T Yo-33 7F)

B. &liF S0->3 7F
D. 2T 39-38 FF

e
o @ TEE 6 T 9T T CW |
. mmso-aawmm|

8. WNATATEA AN FUIFSE TRy F97

o 7 (R GG ST 0-38 7T (T TR | ,

!

i (AT =) Mafy
o T (AT - ol
. e (T 5 30 ¢ .
. TREIECEREAN_ tm.
——=200 (R
o Sufy m'""‘}".
0 SRCEBH W AATLED di. | Crmoe—
g - PR oy
A. 9@ B, 1y, Ans: 8 (z
- ﬁm T L.n]ﬂ‘l’-h”
# g D. 'Shu..,,t =
Ans: D (ST ] o N g
GIRHE . :::;:q Lo
. o, mfEe afE — vyl 15, mfd f e
. foarem, (AT Aat e L Ak ILJ“'”JI e
o T, G, AT —> gz | e B \.‘ 1““: iy
Aty TR
. /TR GO — TS | ¢ Rnclh':'tl:;i”
" " | g
o WW.;:WWWr.m S D Cynadon
10, 352 mﬁi@ T BT e R 2, ey | A5 B (Adha
A, BAfASI T B. 7y My N 0. COrTE A gy
C. Tordl = D m::” i
Ans: A (ZEferErm w4 B e
i C. 2% wfren
‘q‘l‘l‘ﬂ. 1t _ o o D. 7 Bty
grteff ‘ ”E:"r%W1: m@hml Ans: B |#% 0
aa . } AR Gy
i FALTAR ST apiq
9 . T
11. W‘w?ﬁ = - o5 | o e 'F-w-r
@A ararerf T oI pt
.. A 17, ram=f RA-
ﬁ({::‘ P - A, =mTEfe
o el o . C. #mfamer
A .
An‘ﬂs.@;g{f CTCATET : ns: C (amf
ZreyTe QTBTETS: FEY, T, BTG, WIS @
—i{ZH[T FE B FA | TTR g e i
: ) | wald
mﬁ, TR WI =, 28, P B, g \ 2 i_mm;t
WW L : . Nipa
mmi g, WG, T, JEEr T, wimy A C ()
pm— T
12. S G 90 - .
A, ST B. SAC- M1 Sl
C. AT D. SAA-Sa R
Ans: D (SF0A-S4CT) 2
19, @ =

s SR i et F wwamr R g s

(Solvent]%ﬁﬁmﬁﬁﬁ TS T | (e A H o
mﬂimwmwmﬁzmﬁéll C.H.s
T 99 (Solute) FRER® 2| | Ansi A
(PITC- ST, S-S, -, ) \ s

13, TCAIBFT (o RO (e WA RER o o
A. GFIE B. W » T

C. fema= D. SR 20. Sfamd
Ans: A (43319) ‘: $

i i

Ans: (

é.gs g-?lz o WRChIE: FORRITT > W @ GRRET ) Wl
55 i . BT FeEar Q99 ¢ @ L L §
bl 14, R TATRA Ao GRS 02 i
. e (FramrE) — aft . B B _—
! -
A Complete Preparation for NSTU Admission
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16.

17.

18.

20.

Page |21
C. TAES (7Y D. W ¢y Bangla
Ans: B (TRITM) ‘
<n L 'of i s i camfs)
s ST 1 e y b oy A. % B. =
o SOenfE fow FaTTn 4w e oy C. frs D.

o ISCHEATTH T T o e car

.3 frr ez Sfew @)

A. Eilipta prostate

B. Adhatoda vasica

C. Rucllia tuberosa

D. Cynodon dactylon

Ans: B (Adhatoda Vasica)
TR TS A7

A. TE S IET-BI2-HZT Woy3ifael
B. 9% 2 yf¥® oM weige

C. @ sfwres™ @i onet

D. ate Jranifata 3 war

Ans: B ('ﬂ'ﬁ’ﬂ.“iﬁ@ *mrd weE)

. tmcwwrsr wﬁammm.wﬁrﬁmﬁmwl
o TeTEe, fssTas, SRerTEe 9eb o |

e 47 TS M @t Helminthosporium oryzae.
e T4 TS #I51 @rl: Helminthosproium Sigmoideum.
e  YIT-@ ICHWE 2126 GT: Xanthomonas oryzae.

Bferra @ Siaw @ el i@

A. FTEATITSTCRATA B. @rif¥ara
C. Srewe D. Tty
Ans: C (Fre=e)

Tt

o FRGAPREE @ Ao, IpiEe gk @RS 7oA |
o SR SR AW ST |

Ans: D (@)
2. Archeology *f67 “ffstar @iy

A. o5 B. #famm
C. a5ep D. =maas
Ans: C (2ge3)

3. e B et @ity
A. fo B. =amdy
C. ar# D. wrabs
Ans: C (ar#)

4. A % Ty
A. T B. =1
C. v4 D. &

Ans: C

3

o TRIES P @3 i Wt fuaw e o wg 9T | m B. difsfrat
G RNA- (5 wg9ifFe? D. fafsfrar
A. SIS B. 31
c b z\l‘lS C ﬁﬁﬁiﬁ)
| - RRI {k‘ ‘srE Wb AEHRATER Eb?
Ans: C (arafas) 6 - B
e DNAT®: A, C, Gand T a1 | v ki 3 DNEE
RNAT®: A, C, G and U 1 | C. Thars D. vnars
TN LaGifes =1 A2 Ans: C (TIH+3F)
A. Amoora cucullate B Cer &ccandra 7. GRS Foie Ji I
C. Nipa Fruticans tia apetala A. @ B. @M
Ans: C (Nipa Fruticans) C. A D. gzadf
EIRIH
o A — Heritiera fomes. AlseB ()
o FEE Somneratia apetala. 8. ‘T fore TR wrew Wi A SfEf I
o RN 0y Ceriops decandra. A. SAGHAT B. #AmEF
« fom o Phoenix paludosa. C. ¢ FTS D. Sferamy
. HITAE TSI (AN Sy WA (i ? Ans: C (7€ 71%9)
A. H. oryzae B. H. sigmodium 0. Wfew I SR FT Ao I O
C. H. synimons D. H. seam A. T STt 5 e T
e B. e feed f2a st A

C. wfames sfed wfeaz geam Agrat fee a1

D. e Yo wifS feet 1 qeet

Ans: C (ferm afemnd =feaz 2eam e fe )
10. FTs7 @I SATHBT TS GEw ST B2

A. SITAE ST B. wwwar gl
C. ffes @Rm D. Si{F SE
Ans: A (STTa STR—EATT)

11, T4 TATS *FATER T W 7
A. T S @ B. wifemr @ow




4G weet ASE?

A, 632 B, fe=a
C. D. v
Ans: B. fomt

14, Rajmohan’s wifc- SomrEeE FHfS! 7

A, afETed SLATaH B, wiErEE T 18
C.. AAma §1a D, A vt e
Ans: C (35T §139)

15. aﬁ?q@r«wmww

A (TR @O Glg® B, TR TR
C. feag 750 D. TR eur SR

Ans: A (Vo1 (G GTER)
16.mwmmmwwwﬂw

WA e
C. =% D. fw w= =

Ans: B (*if&F )
17. < 318 SOIGHE T I AT LI TN

A. S B.
C. 39 D. 2@
Ans: B (%)
18. Sfeye Rume F1Fy @Hb?
C. ze ™ Do T 1%
Ans: B (34 A7 4te)
19. ‘qzl F G@TAT FAO1?
A. TPEETIAE B. 3fe fmvs

C. temg el

Ans: D (STEPEIEIES)
20, 377 GIRAFT AP TS T TR FREET?

D. SgFICEDEETT

A. Strab B. b

C. 3»oo D. sxod
Ans: B (5tbb)

[ i A BN lshy e e
Give me — tea.

A.a B. some

C. the D. two

Ans: B (some)

in
_ The teacher made the students _ y, )

s —————

Explnnminn: Tea 9FE uncountable “ﬁun. u“k'ﬁ -~ L

dct::rmincrfﬁ"' 5 smncmlﬂ'\.lwn,mewm i Lo
o ara Al | i, e

noun &7 : ]

Mr. Roy has finished — his nove|

T e
A, writlen B. write { Explanation: trg 3

C. to wrilc 7 ‘:‘l"mf’f'“‘mi‘"’"‘“h
Ans: D (writing) . TE;M‘G Vo
Explanation: iy “:‘(:'kwncc :

asked whe
B He told whetly
C.He inquired +,
D, e wanted 10y
Ans: D (1e wan

Explanation: Inie

D Wriung

Sy =@ verb & gerund =3 | WM yor, T

e Oy Ask, lif!l‘l‘lﬂ.nli of,
A. read B.to reaq ! ® auxiliary fory
C. reading D. rea ds question o e

A =
Ans: A (read) PR

8. Do you know
Explanaliun: @It made a7 causatiye verh .

A. does he ¢o
forar 20 &% X
o ; . % B.he comes
sub + make (any tense) + obj +verbin g | o g
Ex: The robber made the teller give him foy, | - did he cor

. the ! ;
“Beauty ,Swh. truth is beauty” _ w:%‘, D. has he cor

\ 1 Ans: B
this famous line? u"'ml ns: B (he ¢
A. William Wordsworth
B, S-w/Coleridge

Explanation:
A% A g |
9. Anantonyn

@ John Keats e
D.P.B. Shelley C. benevole
Ans: C (John Keats) Ans: C (be
Explanation: Explanation:

,, 1 Malicious (=
John Keat a6 fms #fe1 “Ode on a.GreciauUan ”

Spinster (=&
se Lol ! | Dynamic (=f
Translate the following Bangla Sentenge;,,  Tabloid (=

English. ‘TP @1 67 TS 7 |° 10. *Tactile’ n

A. Nobody can live alone A. sight
B. None can live only C. taste
C. Nobody can live in a state. Ans: D (t

. Explanatio
D. None can live lonely. Tractile (~
Ans: A (Nobody can live alone) 1. -——ther

Explanation: You owe me 50 takas — &% (s ey have rea

TrRT AR A_Had
Cut short your speech - TSI IES 7= 71| C.Was
They are over the moon now BRI @R | AnsiA
I can go but why do I - Tats #ifa &8 @@ | Explanat
Translate the following Bangla sentenceins 1 7Pt
or

English. “onfir zrei sfafz i’ s
A. It’s I who got the work done @A B
B. It’s me who have got the work done ==

12. Whict
C. I have got the work done ALTEY
D. Its I and got the work done B.Ify
Ans: C (I have got the work done) C.Ify

___.-—-""’

A Nl ndns Deneessendne o RIOCT'YTT A devrtoontinm



Explanation: Ttas amarg FE ot srafe R ep——

AT causative verb g AT gy

He said to him, “|g ot your name Ahmed?”
Turn sentence into indireet speech, 1
A. He asked whether he was Ahmed

B. He told whether he was Ahmed

C. He inquired whether his name was not Ahmed
D. He wanted to know whether he was Ahmed,
Ans: D (He wanted 1o know whether he wag Ahmed,)

Explanation: Interrogative sentence ™ direct e =,
Ask, demand of, enquire of Femfe oy | Reported speech
T auxiliary fmw o= Whether a1 if gor | wig Wh-
question fomr =e Wh-Question f& BT T ) W indirect
AR °F A assertive T AT |

8. Do you know where-
A. does he come form
B. he comes from
C. did he come from
D. has he come form
Ans: B (he comes from)
Explanation;
9% A F339 Do/Does 713 =7 |
9. Anantonym for the word ‘malicious” is.
A. malaise B. clumsy
C. benevolent D. malice
Ans: C (benevolent)
Explanation: some Antonym:
Malicious (R #=1)--- benevolent (FE=ar)

Spinster (%R@21f&e) - Married b
Dynamic (+fe7%) --- stagnant (fgz) v

Tabloid (2% =fa= fr=)--- broadsheet
10. *Tactile’ means of or relating to 1he$ of—
A. sight B.ta
C. taste D.
Ans: D (touch)
Explanation:

Tractile (=) touch
11. --== the rain stopped a bit earlier, we would

have reached there by now.

A. Had B.If

C. Was D. Unless

Ans: A (Had)

Explanation:

If + past perfect + ..... + (would/could) + have +V;
or

Had + sub + ..... + (would/could) + have +V;

@ 2¥ W would have Witg farm 57 et If wwwr Had
TS A

12. Which one of the following is correct?
A. If you want to succeed, you much work hard
B. If you want to succeed, you had better work hard.

Page |23

D. All of above,

Ans: D (ANl ofabove,)
Explanation: s ofty arays Grammatically =fy=

3. The plural form of the word *phenomenon’ is
A. phenomeni B. phenomenea

C. phenomenal D. phenomena

Ans: D (phenomena)

Explanation: singular @ *mws oo on/um “TE Sy i
=1 plural =1 707

Singular Plural
Erratum Errata
Memorandum Memoranda
Bacterium Bacteria

14. Which of the following is correctly spelt?
A. disseminate B. disemminate
C. dessiminate D. dissieminate

Ans: A (disseminate)

Explanation: Di inate (#57) dis-semi-nate
Aggression (amr) Aggres - sion

Ascertain ( as — certain

Assassinati T As- ass- i- nation

15. Neit teacher not the students—the
mee right now.

tfend B. are attending
attending D. attending
Ans: B (are attending)
Explanation: Either .. or/Neither .. nor 4R 37 sub IEATE
verb 07 | T nor =+ sub % students a1 plural =% verb
@ plural z7
16. He is well known for his---
A. present of the gap
B. present of the gab
C. gift of the gab
D. gift of the gap
Ans: C (gift of the gab)
Explanation: gift of the gab — 3 *ger
17. we should not indulge --,
A. in smoking
C. for smoking
Ans: A (in smoking)
18. The noun from of the word ‘brief is.

B. to smoke
D. smoke

A. briefly B. brievement
C. bravery C. Brevity
Ans: B

Explanation: brief (adj) % noun == brievement
19. Nobody could ever count my love for you.

Change the sentence into interrogative.

A. Does anybody count my love for you?

B. Who counts my love for you?

C. Who could ever count my love for you?

C. If you want to succeed, work hard

A Complete Preparation for NSTU Admission




Yy ¢ y O ' e lor vou? " .
’ D. Could nobody ever count my love for you' Explanation: .-
Tell upon - wfzwa {

Ans: C (Who could ever count my love for you?)
Al times - sTzat siza _

Explanation: No body/No one/None 8 [nterrogative #4¢
cut to the quick — 33fzs zam

2 o s Who AT )
cock and bull story — frerfa sy | i

200 Hard labor — health,
AL breaks upon

. turns upon D. put upon

Ans: B (tells upon)
Noakhali Science & Technology University I

Sonapur, Noakhali-3814

Admission Test Exam

Session - 2018-19
Unit - C

B. tells upon

Fime: 1.30 hours Full Mark, 1
1y,

|| Saaangs Seasal sion o Soa bfos aars 2@ |
2 | ISR weTal WaiR el difFa a8 S 99 S0 FA0S 20A |
3 | IO wRGT NS S FAE TA, WS TAGrAR 39T oA Ay
4 | Twasita e fite faval Teavim@ @ w@lfgs vt e Saem JEne w4
5| e R Wi SuTEERATTy Te! 1 9 |
O | w13 3 e s e ferds fo et o
7 | 3w SfeR st o S S AW (T T FACE G TS TEE R L N Sorg g,

T WCVH T | wlmw"ﬁ
8 | ¥ 3w ey wwg 40 i
O | T TTIIT ST WS SO AT AT |

10 | ST =3t (=79 epjeiar crae g |
11| ~1¥rs1 Ry 2eue 30 G # @ et 20 e Fa0s Mgtda |

e

Ph)’SlCS .A 3. > &7 500 km/h m‘fﬁé’ﬂw @y
. 200m &4 G 36 knv/h e 600m MY qFHAD T e T, G g g,

e TS T T ALY, A, 160,710 B. 150-5m
A 80s o il C.277.8m D. 15§ 1,
C.120s D. 140% ;\;ff fm;lio;s sr(??m-z
Ans: A (80 s) <N _.500;; pot - So0x000
arr-g: fjo?;w ey S 3 ;8 89 T
=;— = 10ms=* =_i !
et = 200m 0= Rl vl
wE O wfoww F9@ = 600 m = —2as =v:—u? = —2as = 2
TR, G SRR RO WfeT TS WG A e € el .

(600 + 200) m Sk 2a uaxeoin s 1003
=800 m 4. Ge FERIRE QIS TS @ e Mg g
Wm_u:f .'.t=§ =E1%9 iy T© eV?
= 80 se A.03eV B.0.5eV

2. BT T T WS T2 C.0.7eV D. 13eV
A. MLT"? B. L Ans: C (0.7 eV)
C. ML D.ML™* 5. SfiRTR T 8 O TE-
Ans: B (L) A, G 3% B. @f¥a wq
TT: TF @7 T, ;142!,27"2 C.ofEr @I o7 D. ST &3
Rt = M Ans: B (dif w7)

Wm_:;i:—z i T SR SHAGTA T TS W o A T A
r=rxF =rXma T | 93 T O D AR © 3B T | GF @ AT
—rXxmX— [T AT TSI AT WA |

3 6. OGP I (STe YT wifRTe G FA?
A. o B. o

A Complete Preparation for NSTU Admission
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rN "]WUII\ Pa ge 25
| D, Feospey — |

Ans: D (Frgerm) Ans: A (4 % 107 N)

_ AN g h AT By B L
| e e S v g e
7. WEEuE Fwise 5 (e R A xj gy B
; =Y == s~ F=
A. Fefamm fpem 13, F?r@fmlm By =2 All 5 Y-:( !
C. S R =Lx 10" %2 %10
ﬂ.qu % fafarm D. wihrzrrafn sy =4x 107N
Ans: A (Frefam fipes) 13. 100 kg =2 fafein @2 ams Bom 500 N 20 10 s fawnt
w.ﬁ%%wﬁ%m;ﬁmm TAE AR Sarara “fda e zra
SR e AL 500 kgms ™! B3, 5000 k i

bR IS R TR Eep— P ; : g L gms

Loy wwmwmlwmmmﬁ?@ﬂ;mﬁ Co1000 legms—! D, 10000 kgms=!
8. o g 4FS WSy fiy 10M %% @ i m‘: B (5000 kgms=!

“ifa afesmam 4/2 5 TS 97 WA oSt s, S, F o= 500 N, ¢t =10 sec

A 7-, B. 6,025 F=ma= 2200 oy, g 2N

C. ().__f D.55 0 EAATE “RTET, my — mu = Ft

Ans: C (6.25) =500 % 10 = 5000 kg ms™"
_ mem.mmzﬂ 14. a7l G @5 w1 (o wave A | qERh ot 16
’f%, o R a4 9fE 21 o B A A 93 A v oo wars

k] oIS welrer KRS
& mroE s = A0 6.25
16 : A.32 B. 64
9. 220 V =3 =ww 20V 1oire zm AT Frredicaa C. 128 D. 256
WIS - Ans: ea]
A. 111 B. 11:] g, £, = 1 my?

50\ C.12:1 D. 1:12 & v

My Ans: B (11:1) uy =u

3 _E% "
¥, Ny N 220 vy U, = lbu
T[T @i, L = =L Z1 - 220 o 2
: VN M 20 8 B e R Ey, = 1 (458 wa7)
D

=11 v Geur

v)? Ep., =7
10. 100 W @32 220V fafe awfs tagfes am 10 =4 g, | P
T G | | kW-h @9 9917 3.00 51t 77wz * Ey, =256
Wmﬁawmzw v 15. ad=faa3) erarers S 2= 77
A 193 TK B. 93 TK ° A, @fiwmm B.iﬁf'i}ﬁ‘ﬂ
C.100 TK D. 50@ C. wyraferam ) D. FE
Ans: B (93 TK) Ans: A (cftwmma
W=@N;.Wm=31ﬁa $ TRT: cafferE — W AC RErE qFdi wur DC TS s
GF T, £ = 10 T A
EE W o 31 fare g, = (10%031)h m—*wmﬁwﬁwml |
= 310 hour 16. =% @ Fea afewmds a9 1.33 32 1.5 73 905
e el p = 100 W AR @ Fer  (AfFwe uWwEE @1 2.28 %
W’T@‘,r-;:—;; kwh 108”13-1) .
=1kw=1000w=31kwh A.1.01 x108ms™?  B.2.02x 10® ms™
Sl NI = (33) = 950 C.3.03x10°ms™>  D.4.04x 108 ms™
1. wRfRees G- Ans: B (2.02 x 108 ms~! )
A. TR B. ¥t —
femaneg @ @ “EE AT,
C.§9¢ D. "
Ans: A (1%) Wi
AT R TR et i e ATgeE SR R €, py, = 133 py = 1.50
APR €, =228 x 108 ms™?
dw _ g
T | 12,2 x 104 m? Teaws R @ THTST O e e = 2
[ SFTER T 97 AT T @F o) fawe T 4, =2.02 % 10° ms™*
A.4x 10" N B.3x 10" N 17. T aifea iEe foT 6A-220V Tl Wiz 1 100W
C.2x 10" N D.1x10” N a7 ol Al @ Afers Frrerar Sire aaZd 4 A7

A Complete Preparation for NSTU Admission




QWWT=27SX24X36GQ ‘-
A 10 D, 20 f"“r""‘f":i = :
c.1s M = aezaxanon .
Ans: B (12) — 2,66 % 107% rads™! | e
et s, v = 220 I=6 i
et = AT X ST (Iwmistry '_—‘?’—';B_ﬁ'ﬂ""‘-—
p=Vx ] =220%6 | el A | __) 45.6;%‘ ,.!\l,l:;% 1
= 1320w A. SOu & | t‘t), = 00350
+ number = -%‘:,—n 13.2 (,' '(.( y, Y Sik, . b > 0.0001 745
mmﬂhﬁ st B e il T A l') (P (CHA)) £l (cy :r"' r‘"“ anm
8. @ofS cimrsa onfi L, S8 m a9 w149 v mr:;mwmmm T O a1 il :N!h;(m::‘
e o, N
Cl 1 e 7 L
1\,mi§ﬁm41-wm ;‘ -q‘lﬂ’r-;ﬁl mm‘“'ﬂ‘ mmNﬁNm
B. oy 9 303 21 F90E 20 BFyP(CH3) = BELP (CHy), f«fm ot
L etra aseTErE T P (CHL), ag © 20% NaO)| gy
C.Wmmzwmm mwcﬂhﬂhwd’((%m.-}m% Ktk H
D. mmmiwm 2. foresa GO MG AT forappg "'i. C.0.5 M
A 612! B. o Ans: B (5 5y
Ans: D (05T ?Fﬁ F7a 2L A0S FA) g . % AT 208 N0y
greT: S I, AT . ufer D. =2y, M=40.W = 3
L .1 L Ans: D (21203 1¥) ’&Pﬁ%’l} §= M—ﬂ
T=2r 5 :!iF:zIT 3 w.aﬁﬂdﬂﬁmmm% ) M“],"'::;rc 1
; WW'«TW{WWWWW M. 25 the number ¢
af= = .:_ ﬁ“m@ TTTEG] BTEAGA W"‘T\T ﬁh&i Molarity in qng
G (AT G AW g NS | TGS g f 5= 1"‘_"_“1
; T A f=F m G Y mn.-\r o
foez f=2f Br, F, 0%, OH', CN, ¢,0.2 R e -
B | Bt Oy T
== - 4 8\ ¥y i
!zf L,L ;5. b.¢-.Y B. b, E 3 A-dibror
= ecm [ . . 9.2-9.8 D. Ciqy [). ||‘$-1'rlclhy'|
132 Ly L1 i A;'_|§:_A (b.@-9.%) - 3-methyl
5(;) =i YR 4 ayrt: 9o pH > 5 - :1?;."3(3‘4
=4l =1 % Upper Stomach = 4-6.5 mﬁiﬁﬁ*‘m
19. 74.6 kg St QFSH e &fefs 25 cmﬁEZ anerStomi\)ch—) 1.5-4 mtw:r:;
9 Duodenum = 7-8.5 e
10 sec @ TTS I | O P FO1 : Small Intestine -> 4-7 e
A. 35554 W B. 360: m w Large Intestine > 4-7 pentane
C.365.54 W D. 370.54 W Caecum <> 6.0—38 giéhl.c >
. \ Upper Jejunum —> 5.5-7 +-CHCI-(
Ans EHGGSE‘;?;) 5 Lower Jejunum > 6-7.5 - TEEETEEy
f:ﬁ ’2m5_ ‘025m Blood — 7.4 AL 1720
'ﬂI‘E]E = cm = U, -.E,'Tﬁ—g L 6
» 30 5 Fif Bwet = 0.25 x 20 =5m 4. 4 TR T “NFZAICS thﬂa-.r, q C.3%1m
- 30 : A 0T A B Ans: B (3
t =10 sec SRR
iy Exn_ mgh C. weifaf¥s ane D.AsB  GmizEm
15 74.6x9.8x5c_ 36£ S4w AIIS_ B (@te Tﬂ'ﬂ') 0. Fsg ==
= -———10 = : = . S T ,ﬂﬁ,‘lﬁg mm mhﬁ HC} Al H:D
20. "jﬁa’ (4TF Blthd E9 3.84x 10° km @3 W epifire 2 | @BitTe AI(OH); I Mg(OH), @ ey
2T Jarer T 27.3 T G Gt | ;ﬂlmwammpﬂmmmm ;
bAa (@fe e T w4 Mg(OH), = &8I 4 | =it HCl «em
A. 1.66 x 10~5 rads=1 - G AR SP A I pH ¥ A | ey
- L carst A e 2o I ) wds pH @
B. 2.66 x 107 ® rads™* A 1 < W 0 T |
C.3.66 X 10~® rads™! 5. IR WK (IR ST TRUST & T
D. 4.66 X 1076 rads™! A. Iron B. Potassiun
Ans: B (2.66 X 1076 rads™1) C. Calcium D. Aluminim
Tt ST @i, Ans: D (Aluminium) K-
w:zgf=.z.".=m=£ T SIS S 4rga A 1
_ o i Si - 27.7%, Al > 8.1%, Fe - 5.0%, Mg !
[-6=2m, r=7 > 36% N> 28% K>26%

A Camnleto Pronaratinm Far NCTIT A dricolnmn



Pape |27

Kr = 0.000114%, Nz > 78 08455,
5 46.6%, Ar > 0.9340%

‘CO; = 0.035%, NE—)O()O]B|8%
CH, = 0.0001745% He = 0,000524%,
' T EA B wmy

13 = 0.000055%, O3 Ans: B (5313%107 gm)_

ST Oy o Wi o 37 gm e I
B = = 32/(6.023%10%) = 5.313% 102 gm |
. Fa =remmanr @ 2 atm B T A ST

0.25 m" 2w 6 atm et @ s TS T 7y

A, N:NC:Hs
C. CeHsNH:
Ans: C (CslHsNHa)

B.

D

ITIT: SRR TGN S carare e siica 05-5°¢ |
=riRmn NaNO; ¥39 @ s1s HC| 9T By NGO, @

Cal 1iND;

ACHW),N A. 6.0 m‘ B. 8.0 m’

C.0.5m' D. 0.08 m?
Ans: D (0.08 m- )
w- ViP =VaPy

.

|

R GEIIES 71 Sreriy |
- =(0.25%2)/6 = 0.08 m’
7. iOT ;ﬂf’”mmﬁﬁﬁw? 13, llzo T A GO T TB?
C.O . B.5M /\, 1079 B. 109.5°
e BTS i D.20 M L1200 D. 104.5°
______ Ans B (109.5%)
'?430{%‘} N;C;Hﬂ\?gm]ga:on 100 gm 11,0 ST HL0 o KBS qw0 oy Srerlier o S ame oer \
s Em, 104,57 T
: =Sy "M 0] st ‘
MOI’"'Y(C is the concentration of a solution expressed NH; [ 1072 1
‘as the number of moles of solute per liter of solution, | NFs [i102.5° |
g Molanty in another way: | NCly | 107.12 I
|%+ g = B%X10 i PH; 93.5° _ll
wt | = PF, 96.3°
© [ 8. IUPAC #iafSTt® HyC-CH(OH)-CH(Br)CH;Br PCly 100° 1
-h] cifGa s W iy H;0 104.5° |
S0n A. Methy dibromoethyle butanol 08 Lo 1
: \: B. 3,4-dibromo-2-butanol %% ' ;;Uﬁ ]
C. l-methyl 1-2, 3-dibromobutanol 21, - 98.2° |
| 103° i

D. 3-methyl-1,2 dibromobutanol

Ans: B (3.4-dibromo-2-butanol)

AT
TR T T RSN I g5 e w9t
T | IR DR (4 T =@ (-OH) w3

A.0471 M
C.0.500 M
Ans: A Ans: A (0.471 M)

14, CIRMBTS 5% NayCO, Gatea Tt 52
B.0.5821 M
D.0.3215M

@ N
Practice : CH;CH:CH(CH3)-C(CH)s > 2,33 Q0% S = (1000XW)/(mXV)=0471M
pentane i 15. BOD =i & g3z
J e e A. Biologcal Orygen Density
[ P TR R I S LA A i i 10 Oglca xyggﬂ eman
B S m RS - C. Bootable Optical Disc
! i ]°>2°>3O BS@?ID D. Biological Optical Depth
< Covley Q32 Ans: B (Biological Oxygen Demand) -
Ans B (3 S S 1), TT: S TR A CorE R ST RS e |
e Wﬁﬂmw3°mmmﬁm—| wﬁﬁmnwﬁmmwmmﬁaaor)mn ;
chgu_wwzo TR FECIC 1° STz | | P CH,0 + 05 > COz + HaO |
10. fisa @G S, IMgC =2.67 mg CO; .
1] A. H:0 B. H;0* (13 i ST TS BOD 6 ppm I[
| C.Cr D. NH3 [ s 160 ppm
= Ans: B (H;0%) e o ffers =1 200 ppm
il ST H;0° GiioT b € o1 R a1 R wedt || i P < fiE «1f 375 ppm
e BT CFEIEA l Wﬁmﬁm{?ﬁfﬂﬁﬁoppm
B Cl o= ®t i afernread Frogm = =nfF 1000-2000 ppm
2 m;mmza T AEFLGIFIRT (B ALHH) ’ COD > Chemical Oxygen Demand
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0 FeCl, 16. @b ergwery R 2¢% ¢ 2e 30 min =0T
'H;0* SO; i s F9?
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{11, 931 Sfe wgg o9 F97 C. 120 min D. 72 min
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C. A D. «Efm
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—reen — e
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B. arsf g il sl
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. ETEEM FHET nemat
A. Volvent
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. TAETT e -
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A. Cyanophage virus tryptophan an
B. Xymophage virus 7 W
C. Ebiola virus m}?min;ﬁi
D. Polyhydrosis virus 10. wrRwm F

Ans: B (Xymophge virus) A. Tricheria

== B. Wucheria bt
C. Trichinela
D. Ascaris sp

RRIE
« Bacteriophages: Bacteria T3 @57

« Cybaophges: Cynobactaria TF @ ¥ |

« Ebiola virus: T2 T O 0 Ans: B (Wuc
+  Xymophages: ¥ ¢ SHFTET s e 1w T
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A. UAG ¥dfmw 12, =fEe-w7r w121 eioee Wb @mitrs? )
C. UGA I). AGU A Yeast B. Virus
Ans: D (AGU) . C. Sugarcane D. Spyrogyra
?ﬁli__'—_“__"_* — Ans:A(Yeast)
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T fﬁﬁﬂmﬁmﬁwmmm »  Yeas| O o3 G | |
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Fsmmmﬂ Lﬁ.ﬂmﬂmoxmcm. ADH, GH, TSH, ACTH, 1 ;m'mm_, Brassica T10e | |1
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_omithine, glanine, asparginc andgegNpte. | | NADH), 25q rzwfew afrs )

10, SiRorfREr i P ¥ i 16. 9T for T R D o T Ly
A Tricheria STl Q14T (7 O AT FEACE - < 7
i A. Epistatic Gene B. Hypostatic Gene
C. Trichincla spiralis C. Recessive Gene D. Dominant Gene
£k, Aol o 5 Ans: B (Hypostatic Gene) _ -
Ans: B (Wucheria ba_ncrof‘n) R £308. DL PUS Sl S
fuilhitS lo a7y e T T PO S |
e ¥F® 3 —> Fasciola hepatica. b WMWWWW&

e f#er g — Taenia solium. L efivafee <on Epistasis.
+ BT Loaloa. 17, 705 ADH T SRR 4RI G €A A T T2
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et 3T — Wucheria bancrofti. B. Light yellow urine
1. D NA - a7 TRRfeR v o o7 C. Concentrated urine
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D. §2x+4

B (16x+15)
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= B+2+16
! =
t-zmo =1
a8 =cos! |

e
12, 8 fo v o weweTEn a2l s M a2

7 Tl = T

AT B. 8!
(o p.2
2 2
Ans: A (1112)
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13. e it w3 qrow et w0 e
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C Ugerg) s+ 206 -Ry - l:r-\.': =0
0 g+ g 2Ry - =0
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Solution: 33 5 cyw weew, wanﬁmﬁm
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5 i w(E 4. Thal chocolate 1s Nt as sweeq L

"Archaic” is correct spelling -
a5 thig o
A G B ==z comparative form of this senience is S ;\ opaque B. new
C. 5w D, =t A. The chocolates very i heyr T ; peaceful D. belligerent
B. This chocolate 1s sweeter than 1, Ans € (peaceful)
s: D o=h it chocnlate 9
An C. This chocnlate 1 not sweeter thar thar ol Choose the correct spelling -
g 2 o T 6 TRRS WU O R W G T, & D This chocolate 15 sweeter than that chocolate A Asassination B Assasination
iy ‘-;-.;‘--[;1--4‘ o SerErr Ans. B {This chocolate b 5 o € Assaccuntion D Assassination
19, =% (1) (6,50 3 (-3 feet . - Secter chocolate)
e e A, e s o B. "™ 5% e 5. The meaning of the 1d.omatice expression Ans. D (Assassination)
3t ‘B d take” 15 bl
A aleyi=tx-2y-15=0 C. =T (6 D. 71 1275 tvra give an s .
B. Coybr=2y-15=0 Ans: D (7 5§ F) A. exchange B. buying and selling Mmmu l“:wn“w:mm
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10. “Rger T5 (51 0N T B Iy shall wait unti] you do not come
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Ans. A (1 shall wait until you come)
ST Until % sentence €% 33 Wt Furure tense 201 =z
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B Kp-Ke=(RT)* sk D U () (S we 0.3 10110830 1)~ b
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Ans. A (Kp= kﬂm_____ BEwbER | NaNO; R e Lt ]
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Al B.0. SR o e e e A 30 o 19. CH-CH=CH-CH; oM 3w warea smaegen
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Ans. D(13) 13. 5o Frtama e W Eefs A, wiEEs B. =G

A. AgNO™ B. [Ag(NH3):]" C. e D. wrgm
C. Ag ' (NHy)> D. Ag(NH;)s Ans. C (31ers)

B 224L 7t NTP st CO; w34wer mr;::";.‘“ W"‘”;%ﬁ""" Mo oy K
A 6.023x10° B.6.023x10% EET: (CaSO.+NaOH) + NaK Bt was s Y ™
C.6.023%102 D.3.0115x%10% ’wmﬁww KHgly+KOH/NaOH oo
’___Ans. C (6.023x] ) e fees [Cu(NHL)LJSOs | 20, =rTs TS AR =W Sem fay

B = 14, T wfiteres wrem v i ’
NHO, ChC - NO, (Erar A. Sodium Stearate
Wqﬂi‘ g igg‘jgg am [B) ?D;ls:; nm B. Sodivm Chlonde
nm L = nm P
4] COCL (w7 Ans. D (1-100 o) C. (.I.IyLLml .
9, NH; N=C am i 0. Glycerol Palmitate
& bl T sy st (1-100 am) Ans. A (Sodium Stearate
! + KOH (= jiei ns. A (Sodm Icm':lln.l
B.Cocy iz E“—*-—I- @ ; | me= 110 nm ( 1/100000000) wa r
C CIF3-CCIF, D. CCly-NO, cor ! e s A Yy nm ( 0.25 nm) I | Sodium Steane: is n v 4 T o
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Ans. A () « Flavoerin
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A, 17.2 min
€. 16.0 min

Ans. D (18.1 mln)
23K Iog

B.27.5 min
D. 18.1 min

B. KoCra04

T SR
1. TR S ST G
A. Fat and DNA
C. Protein and carbohydrate
D. Protein and Fat
Ans: B (Prﬁtem and DNA)

s

» TS 17 7% DNA @ Histone protein for |
2. @D v

A, Bty B. =

C.um D. e

Ans: D (=)

m‘a‘ﬂﬁ] b

| o7 177 NadO.KaO.Phl(x 4y
—_-—,H—'—ﬁﬁ'_'_-_ (g em (NaOH/MNa,CO, 'N;;'gr-.
FEEe B | Cement Clinker & 3-0% fromg

lﬂﬂﬁ d
4 B B 1T W B

s @ Al:Os, 2810y, 2.
PR T K0, ALy,
@ NoBeO 10,0 -05i0,
e AIFs INaF

— 3

Nx:Hy = =7 NH,

s Fe, MoO, ALO,, 20
500°C i
{Na;0.CaO(x+¥)5i0y)
e g7 NagO.Ka0.PhO (x4 ¥iSio,

fezew (Ca(OCB.2)

(CaS04.2H20) (1 F7 Portlyng
Cement =TET T

firr BTt o TR o ¢
Portland Cement: CaO (629 +
Si0 (22%) + AlO; (7.5%) + F
(7.5%) + Mn (2.5%) + w13 (155)
NaCraOy, Ce{OH)S0,

=

|

B. Protein and DN4

_ Biology

Ans. B (@)

g’ﬁ:mmm“m* T

A. Protein
C. Enzyme
Ans. A (Protein)

A Nanc}r
C. Naz504
Ans. A (Na;Cr04)

24, RO (N G T W W 5w

B, Starch
D. Polysaccharide

B. Hab(h
D. NaHCO,

: \ ¥
e

3. e e AfmsER

A. Endodermig B. Epidermis

C. Epiblema D. Xylem

RO -

*  Efiv g aftparbiers wP 3o

T et e e e
4. mmmmmﬁ&ﬁm_— e ¥ W

A, 1:2:] B. 3:1

C. Ll D. 2:1

Ans: B (3: )

2 MW-S 11

2 mlu 13231

F |

5, e a-D HOFE < (-D Foiwey
M HACAAEET T -fﬁ o
A 1&3 B.1&2
C. 1&4 0. 1&1
Ans: B (1&2)
W
. o=l
g‘l ﬁm‘:“;‘;‘ru D 3Ny msdry
- —Dmﬂm“q}r““cﬂ“
!. -0 < e w4 oo
o & C-1,4 0 o
[ i TR0 C-1,4 8 €1, st
6, il WO wfE sm e amp
A. Ribosome
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Ans: B ('\luclc.oilus)
l‘s_m. ) 4
g Nucheus 2 DNA « a5 e |
7.

% mﬁlwﬁn‘?ﬁm@mﬂmmr

1. FmmelEn et w1121
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Ans: B (T

P_‘mmmuﬁ'nﬁwwﬁrmwmu
I W TR FR | CTt B, 11y,
o 3 S e i ferer s off epmerTer 0T

| I e A0 e TE

A, 700-750ml B. 300-400ml
C. 810-850ml D. 850-900ml
Ans: A (700-750ml)

T D 0.5 -2.5L Yy Lo W |
« gl 700-750 ffAEGRE 5 e = i
o Y e el e 1500ml (1.51) T8

10, Tls FvmTEys Wiee 4fFTE?

A. Valine B. Glycine
C. Serin D. Cystein
Ans: D (Cystein)

T Ammig Acid: Cystein, Cystin, Mithionine.

o Serine.
1. wwsﬁmwﬁwﬁamm’

A, wpfaT B, AEEFH
C.w D. wEd

Ans: B (i)

I SR g ey

*  Cycas T8 momd =om

*  Cycas a7 oumy S =iy

12, ¥ereme 2z wmoer sy few sy femem oo 2y

A 1995 B.1997
C. 1999 D. 2001
Ans: B (1997)

i

®  UMESCO 2 2 afede =5 yuny i omee 33 B2
o T Teweare s aleie oz whens
il

® AN O ST TS A0E 9S GG AT ue
T

13, =] TR CHITER R W7

AR [ 40

C. 36 [ 48

Ans: D {48)

hann o S R BT R A Wi
14, = azmv:m"ﬁlm_

A= B TR

C. =fmre= D, TR

Ans: D [TFDmEe)

T
o e v vy TR - N
s TR TR T W ST £ |

1 5. TR (T WETETEE Wl wE)

A4 B.23
cn D46
Ans: A (44)

T

. e - 46 (23
o mOTER - 44 (22 )
« o e - 20 (1
16. 308 =y S =TH(E (T T
A.LH
B. Bowman's capsule
C. Medulla
D. Glomerulus
Ans: C (Medulla)
et
»  Glomerulus SPFR w021 F70 =0 |
* Gl slus Ultr w
17. =T wrs gt ae?
A 64
C.74
Ans: D (8.4)
M;
« TR pi=74
»  WHCRE T gt = 1-2
» wrwfrEpt=7.6-86
» W O pt = 8.0

T JEE pt= 6.5 - 7.0
Is.mﬂnﬁwmmmwﬁwm

A, o B. *HR

B.54
D. 84
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Ans: C (Corticoid)

s wire STEE?
19. 7% . B. Parathomon¢
A, ::ﬂs'll";d D, Testosterone
C. Cartic

2. e o T T SR T
A et B.

.'“

1 ‘MATHEMATICS *v;ffz m wg
e W, (TN 5 ?
A, 3360 3l
gl 11!
Com ‘212121
Ans:C(z,z.)

g ﬁncz- 3/5 ney TSI N 97 TN T

& x"wmwﬁmrwm}

AT B. 104
C.35 D.8

AnsiA(T)

Solution: W' ki (,.—o)ml |

{-dl)(n—n(lt-‘”

e (n—4)ix4
=) (-2) (n-3) =20
=)r’-2n-In+6-20=0

A (R
et (O]

F“"Z?zs—“__‘—-———-——____

(4 2) 43 (6.4) Frewms muprds w7 7
ANGS B.3V§
c.v6 D 3yz

Ans:
Solution:

=4 =6} + (=2 - 4)?
-Jz+§6
= VAo

6. 2cos n/16=?

A J2H+V2442 B.
-2 442

Solution: ¥ n &7 T 4 |

e,

Ans: A[.||2+\. +Z..
Zws;=2mx‘z—. Q
N=4 27 (n- 1)=(4ﬁ e

=) r-5n-14=0
) n? 7n+20-14=0
So,0=T,-2 2 .
. \P= dx+By “RREHT gl M g \ el
A (4, 4) B. (4,4) Tﬁ‘ Binl b3
C.(3,-4) D. (-3, 4, S 2_—3:;= —3x-1
&Mﬁg-“l - C-3-15 —3xx-—1
y=drigy ® | S
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_ =—423
Ty | & T o e bt 2 e v
=yi=dax @ g il
a6, 00) A. f{a)=b, fib) =c, flc)=d, f(d}=a
Sl B. fta)=b, f(b) =c, flc)=b, (d)a
fyzt . C. fla)=b, f(b) =, f{c)=d
A, (4, 4) )1:‘ ﬂa)=?. f(b) =¢, f{c)=d, f{d)=a
P g e g p—— ns: A {f(a)=b, f(b) =c, f{c)=d, f{c)=a}
T gy 7 y*-8y= 9. e a7 wmFe e ow o (T+w-wd)-(1-
Al B.5 W+W2)314?=???W?
C.7 D. 1 Al B.4
Ans: B (5) C.4 D.0
Solution; Ans: D (0)
(], ), ,%hgow(lw‘-'l(lwzj’
:‘:_1::24-3).&2.0 =0 = (2w - {2(«:;?“
=(3,0) = -Bwh(-B).w?
FHYHL0X42.(4)y=0 =B+ [wi=1]
- = (04)

—— Page |51
10. 3pmn5pquﬂw.ﬁmmm
T Wi T Ty
A 2V3p B. v34p
C.V43p D.2v12
Ans: [34p

Solution: = 53 mvsm fer =0 v oo 4 < og°
R—W
Irl-
R=[p+ q¢
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= JopTE zspa
=34p
[l.ﬁw—r’.waﬁap T P o 93w mueTw e wE
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A. 1807 8. 60°
C. 90" B. 120°
Ans: D (1207)

Solution:

R = P02 2PQeosa
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12. =% e P st o 27 | 9890 53 &
B AewE T ey
A 38
C.6/10
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Solution:
FEE TS AW N,
2i=8

B. 4/6
D.3

HH HT
H HHH HHT HTH
T THH THT TTH
597 9 ¢ svEE OF ewE W = 3/8
13. f(x) = x(2a-x) @7
A.2a°
C.a
Ans: B (a?)
Solution: flx}=x{2a-x)
= 2ux-x?
P (x) = 2a-2x
F'(x)=-2
e T,
fix)=0
=) 2a-2x =0
x=a fre wm fwmam
fla)=a(2a-a)
=aa
=t

14, [ ——dx =2
A Inx
Ce*
Ans: In{Inx)
Solution: Iﬁdx
Let, Inx=z

TH

e

B.a’
D.2a

B. In(Inx)
D. Inx+1
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=(0,£2) A, S e
25. Cot 840° =? B, Frgfegner s
A IW2 B. 143 C. FTEE g
& 2N’3J D.-1i3 D. “iewa
Ans: U. 3 = . Ans: B (Frsfeger ammmam)
iﬁ:oﬁﬁm B40°= cot (9xmi24307) 7. e ey
=.13 AE B.w
-— = C.= D.¥
B Bangla Ans: B (%)
1, 0EFT SO W (7 B, 0o ST O @
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C. g e D, =% gt C.%e D. =¥t
Ans: A (P e Ans: A (=)
2. TERIG W Hue 9. wfrerg Wiy fwr 7 T
A, e B{w=e A B. #f%
C. ferift DR C. = D. g
Ans: A (s 10. Lexicography 7w & gamm
3. e Iy e G b Ee T A worey B. wfeur =g
A# B./ C. g D, ®f=g
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Ans: C () 11, #8reme v o wife erly
4. T S R ey A A ey B. 9 WFT 3b83
A, Sporta =t B. T C. a6 ) D. 4 =0T Sy
C. %I S D. = Wi Ans: C (4 ¢ drisy)
Ans: D (=i Tig) 12. "Rt =fs arem =R @ w3y
S "D oTe o 2 B A. Ega B. s
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Noakhali Science & Technology University

]

Sonapur, Noakhali-3814
Admission Test Exam
Session - 2016-17

Unit- A
Time: 1.30 hours Full Marks: 100
1
| T A.0° B.4s" o D. 30°
01. 9.8ms™ TavT WS seTRBeE Frwer 7= 7ET, o Ans: A(09) _
T T o Ty fiw W (NG Wik %08 o cosf =1, 6 = 1807w
i > 3190 Won T co8fl = -1, 6 = 180% =
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T WA-
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i
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15. 15. x4y-6x-By-75 e -1'1'."(5':{5) /
A 10 p.-10 =2
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160,200,160, 20 01, v T T TS

WWWMM’ RIELE )

A, 20 QoefiTE
C. 24 () TR
Ans: B (4Q)

05.m0x1c'%mﬁawafﬁmwﬁm

(h=6.63%10"* Js)

A IXI07]

C.3x10™)

Ans: A (3 10717 ]y
i

w//
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B. 4 N fiTs
D. 20 {1

B.10J
D. 10x10%]

10. ..'Nﬁlﬁﬁﬁl“mr' % “Team

ﬁwwﬂmm%ﬁ&wmm
A wefRfET AR B. fa o
C.wiTa D. wrifhs
Ans:C(“"“f“E_L"p______

ll.mﬂﬁﬁcﬁwmgo“wﬁw%ﬁm

BT o aE NS T
AF=0 B.F=quB
C.F=a D. F =qvBs

Ans: B (F =qv)

12, T W 2 o T 0 -
A. AR
C. wmif=wr/fG= D.
Ans: D ()
o S A

Ans; C {F = & + q(V + B;
14.TH SR a2 o o o T
A T -
A. Transformet
C. Transistor

Ans: (5 Sug 73)

B. Transducer
D. Generator

s

0.01 wh e I 7T Sy
HIA SR wEy
A50H B.o24
Ans: B (0.2 H)

ey

COsH  p gy

STENTTY

i?tr&.-:}:':. o

16. % ST 7R T oy e 480
(4 = 1.5) =27 vy 7y

A, 480 nm B.3

C. 320 om

Ans: C (320 Nm)

v |

T U G 77 20cm 20 e
I 00 A AT 7 ¢ 1 e

B. 60cm
D. 80 rr.m
Ans: C (80 cm)
18, =R @ ¢ WAte Tmy

1

A.Tz
Eapg
1
T o
: 1
Ans.A_{T—‘ouo)
19, it et s wet (AT | 50m, o TE
w7
A 107 1o 115 B. 107m to 10%m
C.3x10%mto 100" m D. 107'm 1o 107
Ans: A (107" to 10 m)

B. egpp

Page |55

[=2mi+2
B LT R T P T egp———.
A. IMHz

B. 4MHz
C. 20KHz D. 6MHz
Ans: A (2MHz)
P A e S
e=F
=f=cix

Sice - —r
22. w2 pedty T wEEE ww e

g

A, TR B, Ww
C. 23wy D. =ow
Ans: A (T st

wﬁww

ekl § TR
Bt TS
| e =g e

23. 9% 10eV I72h= De Broglie =17 tad #37

A. 124049 B.1A"
C.3.88A0 D. 0.55A°
Ans: A (1240A%)
= : ==
A FET B. Transistor
C. MOSFET D. EMOSFET

Ans: B (Transistor)
25, =il TRRESEE a = 0.98 aT =N TS 1.5

mA T F S sy

A. 747 mA B.4.74 mA
C. 147TmA D. L.74mA
Ans: C (1.47 mA)

- e :

=

____ Chemist
1. sp’, sp® & sp remfire T oFRE WO p 2afiy
EMBTS FAET @

A.sp® B.sp
C.sp® D. 3RTNCS 75
Ans: B (sp)
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2. g afs o 9 W
A.-14.7 Keal
€. -12.7 Keal

B, -11.7 Keal
D, -11.5 Keal

147 Keal
> qur e e T 6K o
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Ans: C (6.023x10%)
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NazCraOr, CriOH)S0,
fam Srfa wrwe

e 0l

— |

e cafiry
Al B, VIl
c.1 D.vII
Ans: D (VII)

9. R AR @ TR G e Sevedn wme

wE

|2, oAl ARG ery
A, ol B. ot
C.wen D, Brer
Ans: D (57973)

1

PR T e —
A 7.4% 107" mol/L
C. 1.4%10°* mal/L
Ans: B (4x10°% moli)
[ T pH =74
pH = -log4x 10*]
[ =739

14, BETTOT T9ET ST cory

B. 4% 10 molL
D 1% 0% moliL

. NH; ot HNO; T8fer wrfars 7o oy
A. Solvay process
C. Haber process
Ans: C {Haber process) o
AT Na:CO3 (T 74 @071 ¢ Solviy progess

o : Chamber/Contact:

B. Ostwald process
D. Contact process

: Haber-Bosth process
: Dawn process
 Frash process

B. myrefis afe

18, o s weer rae 4 707

A.CHy B. CiHs
C. CaHs D. C:H:

Ans: D (C:H;)

=]

A Bt forere st
C. NaHCO; g2 =
Ans: A (T fFne )
T i e 5 T ——
O £ = o e () < e pr
Wifim it Fefirm > 1wyt o o |
T fafm 5 sewmminy wet
Foraress <t 5 e s

20. e et =i ffew oy
A. CHy-CHO B. CeHs-CHO
C.CH»-CHCHO D. 7w
Ans: A (CH-CHO)
TR WSECET & Wy @ SmTeTEDR N T e g |
= OH @, CHO e U5 aracr | -2 (-CH,) B
e i e fefio o
3 H-CHO vy (o o= 1)
2 CHaCO-CH) «fads (o b sy
2. CHh-CHO <Fm feurts (o 57 wme)
N S qrr i cion o SR 8 e i

_os

B3 ferzary vl
D). e i

i o | e

21, (== & 57w A T
A. femem B. ™0 a5 i
C. nafs D. i =i
Ans: C (GEfirmres)
R
B Epfie T STt
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A 54 i
C. 16/5 Ao T
Ans: B (4/5) Cov=t) D. vianD
,.- - Ans: C {y=0) :
W= g o 16. 7% 3% e wreem o 2y =
S = et A, mime+1=0 B. mi+ms=0
2 OTE ! 4% T = o S 7
Comy=m; n e
o' B, at Afs: A (mumes =0 S
m_c&‘nﬁ’lﬁwws Snl\.ur.: Hie-1=0)
A sin(A+B)sinfA-B) = Sin*A-Sin'R FTE ez v ¥ 2% T . | w
B. cos{A+B)eos(A-1) = €03’ A-Sinlp -'-mum:l-' I‘j
C. cos(A+B)cos(A-B) = ens?B-Sin’ . Bt _
D. sin(A+B)Sin(A-1) = Sin'.§in‘a g fT.,-.. TS
Ans: C (cos(A+ Bleos(A-[3) - Emz‘ A e=1, wrrra B, O<e<|, Twgm
H-5
ﬁ. T C.esl.yz D, e=1, s
6\4-8}“?:“ ~BY= Cot* B - sind, Ans: C (e, 75)
Solve:
0 + 0 €= Dww o yoow fogfy ay
% ‘1 "’.l i Le S ) T
. tan? A 18. A, B a2 € o wom, Forp ol e =rap
B. Ethylene 5 Weammmﬂﬁtwm: o 0 Ad ol [Gaiand
1 B. Mo s B. Cos2A (k) B.A.(B.C)
D. Styrene A= m,"q pr="e./r! CAL(E 0 DA BrBE
C. m!™p,= D. "p,= r™¢, . b, LA B+ B.C
Ans: D (", rI"‘c.-) C.tan3A = Ans:C(A+(B.C))
n: r=
Solve: mp. = rl.m,, 10 R 6 TR w Ay ?‘:‘:Ed)ma.
6. k e wE T, (kt1pA+2(k+3)x+2k+3 7 rtanie Pt e
ol o f e 2 H,m;_q) 19, 5% GA=2i + 3]4R am OF =41 - 3j + 2k ==,
A32 B.3,-2 tan®ay, i = (4B =
C.3,2 D.-3,2 “Ifsing=5/13, then cotf=" A 419 B 2v29
Ans: B (3, _—2_)~ _ AL 13/5 B. 125 C.2V19 D. 429
; C.5012 D. 1312 Ans: C (2v19)
Ans: C(5/12) Solve:
* AB = 06— 04 =2t~ 6] +6] — 6k
1 ~ [AB| =T 3673 = T2
d Y . =219
7. Nartfcztneet ......=7 - S T 20,9 fxj=/x(x = 1) 9 £ R+ R 75, 572 i)
3 13, Fiosw et oS ey WAL CETLAR-
A sin(sinx)=x 7 -1 =x=] A (-, 0) @2 (1, @) B.R
B. sin(sin"'x)=x 77 -1 <x<1 CiLY D. (0, )
C. cos{cos™x)=x T4 -1<x] Ans: A (0. 0) (1, )
D. cos™ (cosx=x T4 -1<x<] 21, tan'le’=?
o crge- Ans: C (cos(cos™ xj=x 77 -1<x<1) At B
8 ﬁtﬁ@ﬂﬁﬂﬁw SETE 5 -2
2 hZI-'l 2 e A (lx)! = iy cos (cosx) = x ST c= D
A3 B. In(l+x) = x-x® 24xY3-x/4+...... XSO < x < .
C. {1.2}} mi C. In(Lex)x? 20 31441 14. y=2x? s com frggs =efe 4x-3y+1-0, e
Ans: A 3} e} D. In(14%) = Loxinpx34.... s » sove S ,
= Ans: B (In(14+3) = x-x2 24x7/3- i 4,..ee) (-1/8,1/16)  B.(1/8,-1/16
3. pwmwm‘(}’_—zs 3)“@% (14+2) = x5 24x f’3x!4 ,J SOk D Dils e I
w- 2 Ans: B (1/8, -1/16)
A.3,-5 15, *=day smrqren Anifers i - ——
s
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- sinx)/x="

22 I:'Tﬁ( B 1A
A ?, p. 16
c ¥
Ans: D (18]
Splve:

nffm

7 B. 1

A ? D. \.'3
C. %2
Ans: B (1)
Solve: .

24, (HODATTIES B, 100
& :3? p.on

Ans: A (110)
—

¥ o= B -2
1<Lﬂ;'gtgakmﬁmﬂummm

- B. Jusina'g
A lgu S
€. usine’2g D. wsinn2g
Ans: D (u'sina2g)
Solve:
PO et
T, 5 |

| DNA & w5 o wiE £7ET &=
A. Restnction B. Amiluse endunuclease
C.DNApolvmerase D phospharylase
Ans: C (DNA polymerase)

o g e s e T T s
e -
1) DNA DN A i) el
Rephisome! =%
] Sapalug
1) R AT | ONA o2 o e e
o o fvE T
uil DNAw¥s | DNA = gz |
T
VIRNA DNA m= BNA tefe s
Polymerare (e
A, pifs wtem B. ¥ =
C. form wtem D, =f vt
Ans: A (7% v,
T ST - Apdey i
= oo SEPIT v o ot

{lium notatum
Ilium “h".\‘ﬁﬂl!.lf]?lmln

cillium griscofulvim
S :i?::!illus I'l_lmigalnums
j\;ls‘. B (I’cnicilhum chr}fmg‘u”mm
i 192971 m:}“ Penicilljyg,
mhﬂﬂﬂ' RLLE
nota Fefirs CoRETP £E 320 T Panicilliyy, ey

|

A, Penict
B. Penici

%ﬁgﬁmﬁm el o

A, SRR B. A8y
%memmmﬂ m“"ﬁ
ﬁ]mﬂmmﬂﬁﬁfﬂ‘iiiﬁll'hﬁml“ i
ATP e T

i eyt M B, 26 ATP, 3wy
thzqmwmmtll

e (R B0 confn TR G,

A UAA B. UAG

C.AUG D. UGA

Ans: C. (AUG)

ma: Siop Codon &% UAA, UAG and UGA.

& &9 4[A] EHTE 1Ay

A, T B. mf=

C. B D. Teteife

Ans: A (brfer)

FreTs A G B
i) oo el aE ; o, B, o

i) g el T wT

i) T ST AR gt s, e
T, IR, 6 O |

forzz ol g e Fagsye 5w e |
A, B B. T .ﬂ
C.ufm D. T e
Ans: A (Gifm)

SR, st

T TR e i A e
X J B. T7fH

C. t0hnem D, =@
Ans: D (e

)G vy mwnﬁmﬁﬂwaﬂﬁﬁfﬂ'ﬂq
i) Ca ﬂmc_;: e, AT T AT RO
TS W o e -

Pl
10 won FBFE T 7
A 2% B. 3% C. 4% . 592,

Ans: A (2%)
e g SR

1. THTT TR B (GG a1y s
A. Progesteron B. FSH
C.LH . Oxytocia

Ana: A (Progesteron) @
s §) Oxylocin, ADH, GH, TSHARCTHIESH, Lit.
and PRL (Prolactin) <27 Pitutary #f# e7= fiiers on

i) Thyroiad and calcitonin €8 Thy and 0% ST
i

{ii) et (PTH) F12f8 5 Pasmsthyroid Gland w7
iv) Epinephrine! Ade@ali Wywancpnnm-
Noradrenaline &% 7= €8 Adeghal Gland 7% |

sterone : SR I Fn gz o
T e e oy 57
B. «memars
D, Afirem

* IO AT T S i g et e v wne
(o

Pape |61

13, 3Tgwms T ez -
Aarh B. 2.3%%
C.oa% D. a.be%
Ans: A (o.x%)

14, T CanTRrr Hwy g
A as
C. 3
Ans; A (28)

AT Wi g feown Sfw e 2 )

B. 33
D, sv

1) TEa 1) Wrae
b} =oT-28 iv) Th-a8

¥) gh-3a vi) Ty
i) T T H viii) Braebr.an
ix) orEm-sy x) wilE- 5

A1) TP gy xil) T-oh
Xigi) T Lo XIV) o

15 T S wiae aei as
ALS M. GG B. S, G, Gi. M
C.GL S, G M D.M, 5, G, G2
Ans: C (G, S, Go, M)
T WS- 1 o 0¥ (e adE,
=5 & et frem:
1) B0vers (efe snfr) - Faw o (90%-95%)
i) Tt Srmrmer i (M. Phase): 798 (5-10%)

16, e Forersem g Wit DN A, Treme Ty

AL Gy 51 B. §

C. Gz 7 D. M s

Ans: B (S 7

Ay S-ww s DNA, sffefirenr o)

= Fligrme e i am fendn clviine et
17. = e @ -

A =ETE

C. tembmsms

Ans: C (THRBITH)

A Same as 35 79 (A unit) 1o38-5¢ T |
18, T Gl W

A. Hibiscus

C. Cycas

Ans: C (Cycas)

T Cycas 7= =w2 g

= Cycas = 8@ &1er 0 Living Fossil #1535,

=5 il gl B

= BIRITEE TS W cycas pectinala SR

B. mm=hfam
D, =merems

B. Agaricus

. Ulothrix

e Cycas 0% smwrd 207
i : Rt
:')!J!@t".!'ﬂ._’ll i = Frra #ffi e o
oquﬁm[mk 19, S P STes e T S = A
* TR o oS anrs fron. s wad o A2 B.4 C5 D.3
* S, BT, W, S Yenf o Ans: D (3)
iv) PreTm: T
* THUER WTATEY e T | ey wep we o) @ e
& e ooy oo Frwwe wear gttt cmlu
V) DR ey * ToT FyeTe o
* TEETE e mEw
20. A. =TS B. tum
C. femrg D. ey
Ans; A (STEC15)
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! I.\; &
C.ae-ef b
Ans: C (B.2-2 )

DuReweR
ol

Ans: B (=15%) 5 e (To Ta. To)
e AR T EE o it (LPP, LPP2)
» FIOETATE = T

24, e corel SR wFE G

A. Tuberculosis g ?g)aius
C. Anthrax ,
Ans: B. AIDS

R T ] ;
25, firsz B ‘Molecular Scissors’ ¥ 27
- A. Amilase enzyme B, Ligase enzyme
C. Restriction enzyme D, Protease enzyme
: C. Restriction enzyme
mlfqﬁmhuﬁtmwm:ﬁtwml
: Eco RI, Hind 111 and Bam HI.
?:mﬂu;hnmﬂﬁmmﬁ

(molacular Scissors) 71 1 -
[ ST T T |
1. T o wene R w0 w1, o -
A sfe B.wg
C.egzm D. T
Ans: A =zfe
2. s coitT e W Gl
A @ B. T
C. Frgam D&
Ans: B. margst
3. “Quarterly’ @z vifireffes =% camty
A T B. e
C. wrf D. e
Ans: D, T
A B. fre i
C. A D. ;
Ans; C, Fiemmy
5 “ﬁhﬂ“ﬁﬁ_wWﬁm!
A ued B et

A a gerund B. a participle

5.
6
i} S
Ans: A, S
. n aﬁﬁmem%
et T P b
A B. ¥»qg #
C‘ st D. Swae
Ans: A. 393
9, “Overrule’ &% T &f=rs v,
¢ afem D. = 2
Ans: A. S S B

10, " IS ST - A e oy
A, S o B. fifmr comn
C. Sfers D. 3 AT T iy gy
Ans: D, 79 T4 7 IR 5=

11, 0Bt el wafon g o -

A, SATE B. s )
C. sl D. frafrem |
Ans: D. s
12, 30es1 i 49T 1 Sy o) wy
A B 2 oL
C. g D, e
Ans: C. *&fr
L ANEnglish |
I. Paediatric fefiers to-
A, adulE™ _ B. children
C. old people D. women
Ans, B (children)
2. N.B. means-
A. note before B. nota bene
C. note by D. note best
Ans. B (nota bene) .
3. Twill call Nahid as soon as 1 --— any news.

A heard

B. hear
C. hearing D. shall hear
Ans. B (hear) .
4. Arolling stone gathers no moss. Here “roli%

15

C. a verbal noun D

Ans. B (a participle)
The speaker failed 1
him patiently. Choo
in the gap.

A. listening

C. listened

Ans. D (listen)

B. Bacon
. New programs will be - nexy week in BTy, f:\;-n(:lz‘d:s;;::istnne] P Dismact
A, telecast B, publish 1. Which one is plural?
C. telecasted D. broadeasteqd A News - B. Princes
| . 5 i NCEss
Ans. A (telecast) ) C. actress D. Princes
. Which is the correet translation AL “TTA ey .
T (-7 8

|
A. Giving oil to head
B. to carry coal to Newcasile,
C. to carry coal to Olcastle
D. to carry coals tgNewcastle 13,
Ans. D (to carry coalgifo Newcastle)

. The fat mands trying hard to - weight,
A. loose

B

Time: 1.30 hours

- an infinitiye

9. Study of languages is -
Al F‘hilosophy

C. Theology

Ans. B ( Philalogy)

“Justice delayed is justice denied”
by-——

> make the audience -

o B. Philology
se the comrept option to fjj)

D. Anthropology

=

1
B. 10 listen was stated
D. listen

A.Sh akespeare

Ans, A (News)
Select the correctly spelt word -
AL questionnere

C. questionnaire

Ans, C {questionnaire)
None came, -7

I

B. questionaire
D. questionare

A. did anybody? B. was it?
C. did he? D. did they?
B. loss Ans. D (did they?)
D. lose

Noakhali Science & Technology Uni
Sonapur, Noakhali-3814
Admission Test Exam

Session - 2016.17 |
Unit-B

versity

Full Marks: 100
Physics

=0.178 cmst
Fi R - iy = aleulation Conner
A=6i+2k B =20+2+2kmwm i §= 2l i
&0
i-“ 5 (S)B- 8 C.10 D.V8 =17 B =3
SRS — =1x17
G A8 = [6x24(3) x 2431 L
=017 (=« = o)
(T oy S e O e 04. T0m By 7w o 20w wafd orem cars orem W
ﬂ@mm_wmmnmmnﬁwﬁr e (s @8 = = ooy
Amin & cxrarfe st o 7 o | fey e Al9 B.357s C.38 D14
AT O & =4 Smin @ Sz w20e wmE | CwE Ans: C (3.85)
st 2. wm =gl
A. 15m/min B. 15misec i
C. Sm/min D. 10m/min “E
Ans; B (15m/sec) L ‘!ﬂ
5 1% Wfew orwves =HE T 1.7 em 70 @a a8
mmm_ ”3'.39:":‘
B. 1.78ms! Calculation comer
3 s
D. 0.10ms™! ;;,T
80
- . =
1
140x19
- Jen |
12x3
4 [FrEeads fe |
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:af:" poo®  C.180° D. 180"
Ans: A [0

07. thﬂzzatﬁwdmﬁfmamwmm
m"mwﬁrm.wwaﬁw._
ATON  BL2ON C.5N D. 30008

LT ) —

A l2e7 B.YZer C2e7  D.4es

Exay: P -~ .
09, 5 e (v FenE woret fore whowde pavE
-
A. Increases
C. Remains same
D. is proportional to distance
Ans: B (Decrease)

B. Decreases

A

Ci
Omplete Preparation for NSTU Admissi
slon

‘

=
B : aHz B.1Hz  C.0SHy n_;f
(0.5 Hz) %
12, T (TS Y R TSI 0 oy gy
A, 7 TS TR B. 70 g !
. s &% W D.‘@TDQ‘EQW“R

Ans; B (0 TR}
1w_mmgmmmmm mnw

o=

A.lm
Ans: D (0.5 m)

14, SuF g S e AT ey T T

Ry FE!
A SuF B 4uF
Ans: C (1 uF)

A. Water

C. Glass

Ans: B (Air)
16.

Ans: B (Weber)
[ L

AT 25 7 Ty

C. 5m

C. 1uF

B. Air
D. Kerosene

T FET SEF FE0T
A. Tesia  B. Weber

C. Volt

(S

o O

T W

17. = S aa oy

A K BIK!
Ans: B (Jk)

18. 400W- 200v fofis it roeg i =T s

“(f w5y

A.024 B OSKR

Ans:C 24

19,100 51 =rw 3m we sy w07

A9 x101NC-1
C.1x]10" NC!

Ans: C(I1x10'" NC
otad L 2

" A
9%10° x THJ“%
%101 N
Aleulation Comer

E*\m,.x.‘
100109

€24

C.dK

B. 3x10''NC",
D. 9x10'* NC’

i
(o L L
s e w1 +2d, BTG I g

. 15m
B D. 05y

D. 1tu¢

s (T AT SO (3 HAITY iy

DK

D. 5A

20.

— R e———

21.

] x10Y NC
i SN BT G 600, 7 ey p—
4501 T T AT wora vy )
Abs  BLds C.23
Ang: W5 TF0 e g

ot g

T L

1l

.Tﬂ‘E *Ty

H%m

=247 see
O W T e

N
. =it

450"k T 6 e
A, 180°K B, 180°C |
Ans: A (180°

i 04386k B. 0.258h"
)C. 1.386h! D. 13.86h"
Ans: A (0.13860")

2 107 693 % 10°

1386 104

10,1386 !

B. 9.46x10"km
0. 2.26x10"km

AL 3.94x10" km
C. 1.58x10" km

C.ND

2

2 1

4.

Ans: B (9.46x 10" km) .

o —— ]
s b 0 R (m)
B | (1 P (lema)

5,870 %A (mill)
.46 10" TAEE (cm)

B. NO:

Ans. C (MO
mwaﬂmmummmah
W o e oy ey e v e O
T 5 wforwn e ffam @ MO, T A | MO, 4t
A 32 =i e Tafrm = el afics s Ton e
Nyt
S0°C
AN+ 0y = ING;

TN, 93 =fim e oo wilios s ae weelt o o=
T B e ey s fafn e edt Rt e
Fevoe iftes fie e

a

0. N0y

B wert 300070y
= ey I

NO; = 2H:0 <0 3 41N,

Cald = THNO, < Ca(NO,) + H0
CaC); + ZHNO, 3 CaiNh ] + 110 + CO;
S e By e wmey

A AgNDy* B Ag(NHy'
C. AglINH > D. Ag(NH3)s
Ans. B {Ag(NH::")

T AGNO £ HaOH > Agll & NHO,
24g0H - Az + Hi0

Tollen's reagent preparation:

Siep I: AgaD + 4NH: + HaD > ZAg(NHL = 20H
5y we

A 20°C B. =20°C

C.<20°C 0, el o

Ans. B (=20°C)

s Melting point

Backfat 2 (30-)°CI(36-104) *F

Leaf fat 3 (43-38) "C/(109-118) °F

Mied fot =» (36-45) “CAIT-113) °F

Ty wran Frrera W anar o e wy
ALTF 8. T@=

C.om D. e

Ans. A ()

s FH Acid Base
Pt =em (314 - -
Fin 2w (4.2-6.3) oy -3
foibam (6.0-8.0) - = e
ol (6.8-8.4) - =it
e (3.3-10) S - oo

T BT G AR o A

A, NaaCrOy B. Na:S0s

C. H:504 D, NaHCOy

Ans. D (NaHCO3) N
e T SpEme ETeTEE CrSO.; waeE

et NaHCOn o 1 w08 pH 4-4. 3 305 = Bl v R
e aFrTiTeT wfin fumd W e e Rften
e R N e e e BT (e e a5 20ath

P T o T GRS A S

3 i w: T WIS CIFICAT 5T A S A ST
| Cotmyee TS G A e G |
| o B car B TS T T

s e o e e W HLS0. GRS
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e

Frpem -00C *
e 00N 180 > Hib ¢ e

7.

imm

::‘:;“"
sy e (Skaming)
frsles (Cursng) ¥
e cxmst Scaking)
pmgesers (| i
pesfer elming)
«mw_wﬂl
i e (Vogpeiahle tanning)
. o B (R

A, TR

C, feiss

Ans, A (oo}
9 wwentm

3 =t e

3 =TT v et

& e sl e WP
= Ewes n fhekn meek o o wEE
o = T 1
T P ¥ T R
A, 3¢os-20cs nm
C. ¥os-3000 nm

Ans D (3-30 nm)
“wawnm-» sdomm
e wamwﬁt“a

e AT
e Wi
mmd‘m'

7"',"-"5"!'-“-!"“!"!_."—9

B. ¢oo-990 nm
D. 3-3e nm

8. mmmmm—amw

A 6-8 ppm B. 4-6 ppm
C. 24 nm 0. 5-7 ppm
Ans. B {4-6 ppm)

9. =Mrpy e o fe e e ws
A K0 B. CaCl,
C.Ca0) N NaCl

Ans. C (CaCly)
e x

mmuracmdng
I-:‘:;:’ wm edrmu in cerbrovascelar dig
s Film former
. :‘nr murliMms agent
I. Skin - md:uuumg agent emollient
'
Egndnm agent.
miscellancous
s Viscosity increasing agent
10, 0.02M NaOH 53078 pH 727
A 1231 B. 12.00
(-' 14 D.1.69
Ans. A [1231)

i aréa (RTETETICES ST A G,
A e B !

C. vgavidiy D. @iz
Ans. C (OF98m)
wa
a
aca |
a |
Carbon Tetrachloride |
b 1593 p
WMMHLEHHIPI&CH-I,
12, sp? Tt ik Frsa ey

Ex: CH,
I ;--(qhi 0+0)
S
|'
[FPractice: KH;, H.0, PCls, BefFy
! XeF, 5F; 4
AR i

| POCJ;.:-«(H: -0+0) =4 = 5P
Fracice; XeOF, QN 4 CHy*, CO%

13. A1 S e 3y e cA?

B. CaClz

D. K4Fe(CNJe

A
Complete Preparation for NSTY Admiss,
ion

-

crystal axcs:

1207 and one perpendiculr axis Fay
Nickeline, Molibdenite, Apatite, V.

et w1 o cm
A 0.6M
C. 0.8M
Ans. B (0.4M)

-).ng.ldjc Nature [Acetic Acld)

A, CHiCH:CHY B, CHyCH.0R

€. CICHCHICH; D Chycocy,
Ans. D (€ Ihm(n.;
e “‘*"Wﬁhm
anmmmmh;ma-;”,,;:"
e A

o
£H, EDLH, = CH-C-CH,

15, TSI i1 Ceilz

A TS B tozfis
C, amrE 0. 3wy
Ans. C (e}

i Hexagonal crystals; These hexagonal cataeiie
crystals nicely show the six sided prisms.

Three horizontal axes mecti

ol

_.‘_l*EIfl."lﬂ?-’J + Iogn—;_l
B
18. G cia et e vy )
A. CH;0OH B. CH;COOH
C. CHyCOONa D. CuS0y
Ans. A (CH;OH) y
CH;0H S Klcaholic Nature (Methanol)

Pap 67
Acetate {4 strong conjugate base) tears off proons from
Muer bl the concentrations of CHLOO, H end

CHICOOH molecules will reach those that carmgly with

Ka off the weak scetic ucid,
19. ﬂz‘%nﬁ‘z:vq!w'ﬁ 10 min, & G o
Eret )
AL 525510 min*
C 40010 min?
Ans. [ (6,93 10 qun'y

B, 6.0«107 min"!
D 693107 min!

0.493
== 53210 !

B. Acetophenone
C. Phenol

Ans. B {Acetophenong)
T Step §: Formation of Aeylium ion:
2 ?-:u‘ aiey,

Step 2; Attack of electrophile:

P < AIC, 400 Lo

.- & duct, el
L e

2. TR AT AT cee?

0= £ 101 ax Sefaiers memEn TR A
R A T e e Tem T
AL Acetone

D. Benzyl Chloride

= CH,CO0+ No* (o w}m cation)

'M;_ﬁmmhmmﬁﬂmtm

HiO = CH,CO0H + OH: (The solution is

slightlyalkaling) =

A, CoHzez B. Gl

C. Cablay 0. CoHa

Ans, C (CaHza) i

o - T, S
CaHz e =
CaHinez A L DT

| Cablzmz AR & —epi
Cilln. OH T = gp),
Cobln CHO R
CaHizn COOH
CoHe i NH: Ei
CaHzmx B o
CaHzs

22 NTFP 5 56 0w SmsIEs e s 5@ a0y

A.d457g B.25g

C.425g D.7687 g

Ans. C (425 g)

23, cof o frs G T e Ay
A wfgE T B. cibmrfes
C. g e D, el =

Ans. CiHeO
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g _-;-. -
e g.wmm 1t ’i- o
C mﬁ . BTy - .
B. R-Plasmid Page |69

3:':':.'[ Mm A, F-Plasmid
agnl “ol Plasmid Y\
geets g, (o, Freere, C. Col Pla 1. Vil [ r—
ey "ﬁ"% Ans: D (Virlence plaﬂmd;]m enee plastid il e —p—
= aprer Ty weret iy eTe Al B. 13 o
4. wmwmmﬁﬁmﬁ% {) Foan F 7ofs: 42 aredfin oo ey C.1s D IR
A, Mycobacterium tuberculosis s W YR WE b r'}_:l: B3} :
B,Bn:illns:\nthracis i) R 7O B G | S W e S 7 e e W e T
C. Bordetalla pertussis ‘,mwwl mm' AT ST o ek i} Ebeinogen g
D. Clostridium :"]’f o i AT s B e i) Prothrombin
Ans: A (Mycobacterium tubercylog; ’ mﬁﬂmnﬁ‘l, SRS LT o o fi} Theomboplanstin
e s P S15) 10, . £? wiCa
g A, = B. 7=y -t =5 ' =
TR ¥Ry 3 & #
[Mysohacterums S g8 D. & 4 ¢
U ety Ans: A (I Fibeinogell  protmbin Thiserboplamail). €45
et | s, 16 e s e
v? o cholerac o S €3 TR M m v 3 T
el ’ | Ao e
g Eﬁwmn\ o o0 TETY TS =I5 = gl el D, arsw o s
. i —— i | _i"ﬁ“};‘_ﬂﬂ\firl____\ |1, % RS WE mwﬁ\ o Ans: A (FTET =TT 6TE)
L2 | Clostridium tetan; . e = QP e
IE @ 5. Plasmodium Vivax €9 T9RE T - C. st D7 3. 7R e cerw) SAN/ temnvene) gt tmre
. 3z a7 - = ] Av-de B B, 3338 B : ! \ . J il - !
Ll w MAVIA == 0=0%He | C. 33209 D. 3v-80 . ’ A, £ T W TS e
" 1 7 T 5 s, R, e | = !
28w 5 R T TR BT Ans: C (s2-20 ) 2 i By S am & AV s, g o
A e B.reEg e plasmodium vivax = 33-30 7 — vl ! “"“ﬁ"" 3. T e
C. ooy D.sfEEyE plasmodium Falciparum = v-3¢ F ; IRaf srem T « SAN e AVN 1 S o3 e )15 DR ot
s. D (5T e ERS) plasmodium malariae = 380 B. Gfem = ‘:ﬂ
> plasmodium ovale = 333 B L) D. it = 17 X T o8 carTT i =y
6. T SRl DT T s g - s Al Bg F B, gy i
bl o= C. 30-32 mme D. 3a-
A wEE wEE B. oo g : e At € D, 33-38 Wt
C.rR 3 o TRTTE 2 17 el caws o BT Ans: C (3833 7
Ans: D. s NN sl S O B WO SR SeCE 131
Ans: 1), 56T 13. e 7g= a7 = & 1R 1Tgm am 778 130-150, g, R T8 woPI I W
S T e, ST § O o e . AT B‘ -
DT CES TR W (3) G & v Dls:t:n |8, SFRETHTE GI @ TSI SO J0ITE?
.t) s - A
|. TIE5T = v % - T S 5 Ans: B (7rq®)
,Lgmmw T T 1) =R ii) TS rem RBC a7 firaniis osre s (oo we =) ¢
S B. =i 7. oI e Te ot : L L !
Ans: B (2 D. Soww AK \ s 1‘
: B (=5 C.Bd - » RfrEfe = g o) :
T P oo iy =
By A A Ans: D (EK; P EX 14, T CoR ST OF T8 W AT
G i e > = : A, e B. Tefies
- =TT e =1 i [ 28
3 S oo RN O ) ) \ TATRLD. oo
. S wrew el 'f] e Ans: D (FeTE) 19, e i iy o BreE wmuE
ot asll B. = i) $afe = Ek o A, T B. R
Ans-(‘l g D. s maﬁ‘_—;x il e D i
= (ot V)G =p Ans: A (i)
= Vi) T = A T Same s TR 33 unit A (Senion 2016-17)
wﬁ""'ﬂw_ R e, g ¢ ;fca:ﬁ':ﬁ i 20, HSTATCTRT oS ST S
g I , cameos, 3 S B 7 o & (Agranulocyte) (granulocyte) AlgA B. IgM
ot o, S ESGumats AK o L) C.1g6 D.1gD
: P ey FREy g c B.Zn £ 3
P a2 o et PSS, . Cu Ans: C (12G)
f‘."."!,'ﬂhﬁrﬁ o A Ans: A (K) D. Mo Srets ) LG = T5%
" R DS, coow g T e o s rigdll e AR TSRS i) 1M = (5-10%) (ABO Blood 2 wsfier)
i S sy oo Frofere e @k 2 Hod atennd] i) lg A = 15% (o S o)
9 e ffers confirs 2w Ca+* aa Soa” T - ey i) g o iv)lgD=<1% F
kil — L S M
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A l25ke
(‘.1.4:’-;.@1 -
‘Bl.36ke -
w:.”’" ;w-m.w-*m].\elg
wrE et R
nmn:ulﬁ-wmm.
TEREE
12. Wn! far B. Parotid gland
?.!I:;:r\ilmd D, Lymph gland
-\n«.({ﬁwiw}';lm‘f_,
1:_{;#;-@-'-.1‘:—.‘:
A DNAtoRNA
B.RNA® DA

€. R¥A to Protemn
D. Protein to RNA
Ans: B{RNA 1o DNA)
e e = DNA= BNA
S = BNA = DNA
24 g oy TE T P T R g IR
=7
AL
C.3L
Ans: A (2L)
o e owkE
i g e e LT
o oy 45t e
o
35 TESTm et T b=
A. T B. ¥

B.4L
D. 6L

Ans: C (VET)
Solve:
*

2 X o7 v 2 gy 2y
B e —
ey q <2 dm

e etz = e (i)

h‘w,mﬂ}g—dntﬂ+2]'=n\\1 |
= f a2 |

iy =, ‘

a4 =1

= |

-_—

=
R

T (x+y, 1) R (5, x-y) TG 7 %, 2 (y,
y) =
A(1,2)
C.(3,2)

wn

xey=5 (i), ()= 1o (i)
@+ (i) =2x=6x=3
f)-(@=2y=4:y=2
k =13, 3)

A Javhiclal+b|

C. fa-bi<lal+{b|

Ans: A (Ja+bi<lal+[b])
Solve:

=~

wwﬁwmﬁ(ujﬂwmw’
A xy<0 O B.x<2
C.y=l D. y>2x
Ans: D (y=2x)
[ A
‘mrqlwm*l'mm.
[y>2x

=21

oe

i F P
4 f’””’@”‘ﬁ"ﬁwmmmwg
A 36 B.72

esng =9
a0
(NP 2R
A1y
sy’
Ans: C {(1-0)"
Botve ()" = 1+ dnvents
1. ety WA WO 4 W SO T m
e E TR
A zp=l
. pq=0
Ans: D pta=1)
B P ta=1=F=1.a
11, Intedy?=12 Borqrms ety way

AV
c.

]

B feg=1
D opeg=1

A Complete Preparation for

Solve:
=t 1

=0 T i

i

e

Wrai by o cm

e

o = o
Frilag

15, Insidy=g ooy y Ry 1) qanm e T K 4

e

ah B 42

L D 36

Ans: A (-4

Solve

T (0,4) o e el

i e e s U |

=4
P =
o et par
= [tk = + 20
k=1, 36
16,4 =31 = 4] + 2kawe § = 6i + 2f - 3k @
ETES S ey
Al B
C.8i+2j - 30k D.6i + 3f — 2k
Ans: Bi{4)
Solve:
AB =3 6rE 2N
= |8-H-
=4
ALI=LAER=)
17, S b o P{R/A)="

T by ) e T

=4

A BANB) fart
"sln'l'{sl.\r‘x-ri!cns’x]ﬂmﬂ’ PIA~B) T
it ? C.— D. PIARB
13. cosf + sinf = VZ 17, @ a7 T= =W Pmlrm-a] Sl
A, 2nn B. (2n+1)n Ans: B (= 22)
C. 2nm+n/4 D. (2n-1)= Solve:
Ans: C (2nm+i/4) 18, = 3w v, af o v wBeT
2 A, B wt=n B, e e
C, = st D, Fréadim st
Ans: B (T ¥6=T)
19. PLAUB =58, P(A=1/2, P(B)=1/5 =7 P(A/B)
= %%
A 38 B. /8
C.4/5 D. 83
Ans: A (%) i HNRN
Solve: e :
AnB) =P(A) + P(B) —F (AUB)
Tx+0y+5=0 v ur-gamz f&dfi' S |
A2 B.3 [
C.8 D.5 Eeemaern oy e neen
Ans; C (8)
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- Wige
A.23
c. e
Ans: A (273)

e iy T
2y T yryr-y=?

B.4
e D.2

Ans: A (0)

A. 459
C. 594
Ans: B (549)

22 fix) =x-x"-x" WO BT L T
A. (173, 5027) B.(3,3)
C.(3,27) D.(1/5.2/28)
Ans: A {(1/3, 527)}

A. {TH, HT}
C. {HH, TH, HT, TT}
Ans C

15,mwﬁmmmmﬁﬁh

B.1/3

D. log!

B. 549
D. 954

Solve:
24, (10001001 101)2 o i mmwm

B. (HHH, TTT}
D. {HH, TT}

Noakhali Science & Technology University
Sonapur, Noakhali-3814
Admission Test Exam
Session - 2015-16
Unit- A
Time: 1.30 hours

C.6.1%10°]
Ans:B (6.1 x 10°

01. o=l artrerm off ot wome o w08 (o T |

T 7 4 e =1 25 e o ol e
WS A

A 12 B3 (o D.9
Ans: D (9)

A Hz
Ans: C (dB)

- o Gl ET P R — B. wm?
T (0T T 5
A0 B.45

C.
Ans: A (0) #

D.30

TS e |
A.3m B. 6m
Ans: D (18 m)

= Com]”“'rmuﬂ for NeTer . .

04. w37z B cavem a1 w7 Mo

C.dB

C. 8m

S (T 3 AT A1, e FE O

D. 18m

u?_mmﬂmmmmaﬁmﬁw“
AT T TR O 57 20 oy

B, A = mvh
Cod=mvh D. 4 vimh
Ans: B (4= myihy

A
A020 BOSD Coap
Ans: A (0560

n—

1S, 7 2fe sty mdvomnr = 1y - 29 sn(e2 T,
T G a7 g ey

| AVS0Hz  BO00HZz  C.song

| Ans: B {100 Hez)

D. 75Hz

=100 HZ
o =
. L i S ——
mmuﬂ‘-ﬂmmmw;

A.drad's 8.9 radis
4 . | C.3rad's D. 36 rads
10. SA of%s ore ed o sy
A SIIC  B.SVIC  C.50/8 D. 5WiS \
: B FE A g = i
11, wivtrers st sgom Fosa e weafes 2oy : ik
;:IJ_E(W‘&SWC C.5C/8  D.SWIS L7 T R 1S s i et e o
I2.4R=ﬂ; mmmmﬁhﬁamw 16 ii]mw: lﬁiE e ZE! ww; -
T e e e 7 m»nnaﬁ)‘ * i
A.64A/S  B.32A/s  C. 16ASs D4 Afs . —i—
Ans: D. 4 A/S

e : . -
18, et Fga SreeETE € my €9 T =1 m W
firsa R A=

A.mp<m

B.mg>m
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D, Calomel electrode

T T A A
e
[C) T T A Ans: D (Calomel electrade) :1:11 B (BeCly)
AT % s, Primary: Hydrogen electrode (py, H3(L0 e g 15 1|mmmm-mmwm-,mﬁm
"Chemist : o fer=10) S e S v . e
ry > 3, Secondary: Calomel electrode (Hg HgCly ey = S e o
wmwm Do % wpmee = HesCly Ex: CH, X=2; =Sp
J- B.d.6 ™, s Salt Bridge: NHINO, KM KNO, | 51m sy X=(@+d4.04my 3 =5p
A.2-3pp D1 ‘pi‘m e ZP1 W WO T 64 - 5pt 4 =om
C.34 F&"} il © T Ppg 5, ST QT T SR e vy z : gé:ifp
Ans: A (2-3 1) : et
ey A 8% B. o 7 =sp'a
C & % D. w5 Bractice: NH,, H,0, PCIL, BeFy, PO,
Ans: B (%) XeFy, 5Fy
| Ans: B (2%) MWmmammwmm.
COux=tien.ne-p=2-5p
f 5 Practice: 0., €Oy, C5;, Xe04, 50,
T LS ~L = e et X e A o T e T
2, s @ AE? T T T
A. Aromatic compounds are free chaip POCL x=3(5+3-0+0) =4 =SP
B. Scientist Huckel proves a thoory for aliphate cq, Practice: XeOF;, ONH'y, CH,", €O,
C. Enantiomer shows geometrical iSomer 11, Bse e st SByrars ey
D. All aromatic compounds are UnSatyrgge A. NaiCOy 8. HiC2042H,0
C. K2l D, Ha504

Ans: D (H:501)
AT T G | i HC
=T Hrard «wd: COOH-COOH, NauCOs, KiCra0y
Pt Bivsrs +d: KMn0s, NiyS:04, NaOH, KOH,
H;504, HO
KM, oozt S =wd et aft fers v 1w
- TR | S BOROTE T A NI T W 4 e
R S A e e oy o HLS04, NaOH,
A H0 B. HEr Nmmsﬂ;o
C.KCl D. NHLCI

Ans D (all ammauc compounds are mm

e_ mﬁvwmmmﬁm TR ey
et cieT S

3 mﬁmmwmﬁvfw (g

A. 3-chloro-4-5-dimethylphenol

B. 4-chloro-3,5-dimethylphenol

i C. 3-chloro-3,5-dimethylpheno 3
B e Sy Sy ap—— D. I-chloro-3,5-dimethylphen Aoa: D (NEAD TR
ey Ans: B (4-chloro-3,5-dimethyl i T HSOn, NH: 1
Ac=0 Bec=fA C.f=¢l D.f= T ° KMnO,. NasS:0 1
Ale 3. 4-Chloro-3,5-d hyl 1 L |
- |
23, ﬁmmwgﬁwww | 12. @ fofesam com oy e = o
A, vl B 5efen i A. Cobalt-60 B. Uranium-235 AUV B, o 2
C.3 & | C. Carbon-11 D. Pa-171 C.IR D. cerfis 7/
Ans: C (Efesz) . | Ans: B (Uranium-235) S Ans: C (IR)
W = i li-60 bt o R |
24, wmmwm“p 100 7 1= ‘ 5. T i, st P, com et =, G e,
ApA T, =7 & Pmocml (4-didroxy acetanilide or ; i e o, e oo IR e = w0
A 4500 uA B.4000 I mﬂﬁ]ﬂhmolorN-noetyl P-aminophenob- § : e 3, UV 5 et o brer -rssere s =0 0
C. 405044 D‘4550“ | ; 4532  oys T ; _J 13, Gl 7 1 30011 kImol 1 3.0g G
Ans: B (4000,F) A ; 9. 8i'6 P g st st fn e i o @1 e T2
o . & Trots B. lsob A-1181 B.-277.64 1
| . Isotone . Isobar
o | C.-18.7kJ D, -487.6 k)
[ P | C. Isotope D. @t 7 CACILELD
Lo Ans: A (1538518 A Ao LA
. 0% ol e s gt 10. p? e s i oy o
g Hydrogen electrode A. BCly B. BeCly
Zinc electrode C. NHy* D. CaHz
€. Standarg hydrogen electrode e ‘A Complete Preparation for NSTU Admissi




14. BeF; 90e Dy = B_T_“
Asp 0.5
Cw T

g ;

[ i sy i e+ @ CIETE

[ .
i AR
[
ExCt
X=2 =SP
= §p*
kni=4-0+0) it
-l =SP' s =5PHd
rl B & =spidl
7 =5p
Practice: NHy, H:0, PClg BeFs, PCh,
hmmmwmm“'
| m,.;;unm*o:»:-&i’
Practice: 503, €0, €Sz, Xe0s, SO

Lt ol
I m:-iﬁ'3-0+ﬂl-_4- 5P
Practice: XeQF:, ONH, CHY', O0Fy

15. % o e S ey e

T

A. GiHy B. Hs
C.0; D. CsHj
Ans: C (0q)

D. Nas§,0,

A
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AS B. ys
C. o Doy
Ans: B (39)
T pOH =-log[0.1] = |

pH +pOH =14

—pH=13

19. 430 enruard REFTT W4 2 10 mip, ¢ .;ﬁﬁm
TR
A. 5.93x107 min™!
C. 6.93x107 min”!
Ans: C (6.93x 107 min")
T e R,
0.693

;muT

B. 4.63x102 i
D. 5.63x1g% iy

K=0.693 X ti7 = 6.93
20_mmaﬁwwmwwm-nqﬁﬁ.m

T e, SMpTeT i =ik o

Ao B. weif e @i

Ay D. a4z 11 sz wp

Ans: C [F)
ZJ,ﬁmccmﬁm-wmﬁ’rﬁmag

A, 80y B, H3O

C. NH; D.ﬁmﬁ:m

Ans: D (e )
wm:

g
F e “’%@%ﬁ XQ H', Hs(, NOy*
S 2 B, I, FeCly, 505
L Eeewmg)

", CI, Br, CN,, R, RO-
. Hi0, R-OH, R-NHy, R-MgX
APTRII 31 it e, (= e wve) —CHO, -
0:H, -COOH, -.CN
SRt e (= e s <X, NHE
’ "R, -R, -NH;, -0H
Bl I P ——
T o s ey 2y
A. iR afr B. s
C. A1t wyefiaes D. @
Ans; ¢ (feras s

23. 445 COy =0 a1 5pn 7
AL 60221077 B, 6.022% g
C. 12.044%10% D. 0622103
Ans: A (6,022 ,02’]
; ‘I‘!!Wmmwmmqm.
AT = 6.022% 102 1, A E == gy
24, TR GRTA TR et e T T T

AT 2 o B. S

WE, ST T D. =18 ferenZor copse
Ans: A (37 B3 o)
TN ST ST ATG768 e e

i
wf bt bl
HHHHH WM
T e
A. Fes0)y
C. FeCO,
Ang: C (FeCOs)

TR e e el A
B. FeS:
D. Fes0a

o mathematis )

OL 3% zox 4iy 29, vt 27 = e fo et 2

Fape |77
.-‘\..73 B, e
C.frg D, s
Ans: € (g 73
Salve..
Z=rsiy 2= iy
SEE3 (x4 ly)x— |y
=iy = ) e g
Similar:
N TR e ) it ey
Xy Tl ~ 514 |2 4 5[ = 16 Pt
3
02.14 5 9 r““ﬂ‘“ﬂ}a?aansmzz?
6 78
A 14 B.-14
cn D, 23
Ans: B (-14)
Sobve:
T8 v (1§ - g
1 53ty
Lz 4 ﬁ[-lnmw_
1012 5
M gy tiny, ¥, B 0 4 % wEy
AR 8.7
C.9 D6
Ans: C (9)
Salve:
.
LT nlin=3)y
Sy
= “Am=3)in—a}
=Sn-d=§

Ln=9

1
J.n‘._.; n, WMo
L Meye ngye W=7

04, tan20°+tan25® *tan20"tan25°="

Al B.3

C.4 D.2

Ans: A (1)

Solver: tands® = |

= tan (207+25") = | [+ tan{a+b)

tan20? +anzs? tana +tan
=t AN OAR

= 0207 + tan25%+= 1 - tan20° — ¢an259
< @207 + @an25* + tan20” ~tan5 = |
| Ltand
“teranis
2. tand = 5/ T 5in) + secef) am v
05. 1= fargren g (-1, -2), (2, 5), €72 (3, 10)

T O I wEy

[

B.
C3 D.
Ans: B (4)
Solve:
(2:2) . (2,5) =% (3,10) sifl %22 0%, (0,0, (4,7), (5.12)
0 0 1
4 7 1

T
5 12:1
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+ Ko B : Y
. f_;'ﬁ (2) (2 (2} (! N“' e e,
.Eun-sﬂ'ﬂ'ﬂ = (dw) (W) e :
L ¥ m - -
';"s 4 Lt]_.{f\‘;}]“‘ﬂ*w—w“]’ il’*’ Ix-dy-2=0
o AW w0 W Ly g, ‘3!, y e =n¥i e (79
T - 1 - Xk =dy+ i e
(0, 44 mmEdt B, mmz +1=0 11, g ax’ +bx + C = 0 02 gy, =+ T o S
A my=mz np=mi + M2 w arhe’h’q g + ) = 19 ¥ s T+ g
e, 1im V=1 . lmymz —— g St dmg Uk - — THESIS" wefi astwrgers s
Ans: B (mimz + 1=0) s At D. 220, byg, 1 B (2,00 TR + 2 = 0 0 ot sy A 35 :
de;lﬂm*ﬂmmm i €. h2-4ac>0 . b2-dac<y o ] co B.§
’ g g =0 s Ans: A (a0, b=c=0) Zfﬂ“’:“ ST e oy 12 2 ey Ans: C (1) e
i B s Lt i T Solve: g gl Solve;
fe _“:.b;+c—omb*4nc=om-¢m 15. (4, 5) Frptril e 3x + 4y 4 7. (I = —" THE (S5} 1 4% a g
r o7, #;ﬂ;dg“c:gw ey wAEE? Option 4 <01 =% eh“ﬁ TR AR - b 2m‘°m!ﬁ“'“',::':'m5p4:uu
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= 30 XU 0 4.3 8 sl B. et oy A, First Speech A. Animated & BJS}—; .
22, wfy o W fors wige o TE A - C. fedtg firer me C. Final C. Dull D. Slc:wv}
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2 T oo ot C. =y C.U=1 2 =1p2 . z ‘ E
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A, 5nChiaq) = 2FeCliag) < SnClifagq) + FeClijag) ¥ = (sinix) ‘f\@}"ﬂ\h)’
B. SaCliag) + 2FeChiagh 2 SaCliag) + 2FeClijag) ,),I_mn"x =510 VEFT tan’
C. SnClfaq) « 2FeCliizg) < SmClday) + 2Fe;Clifaq) ' Jh-x‘ L5 i
D. SnCly{aq) + 2FeClifaq) < SnCldaq) + 2FeClisg) =y [1/_"}1 == y1 = 2sin'x @ ’ =
Ans: [ (SnCTag) + 2FeChing) # SnCldag) + IFeCldag)) = (1) ¥y = d{sin"'x)? (wfeze) Wl in e + 1) B.InJx? +1) 17, (115)10 1% fafire wrarg soame = |
i =) Ly a4l (-20) = Ay, . i :
Saiiias = (1-%%) 2yiy: + i (-2x) = 4y, L :;I.;;g-jy D.ln|x* + 1| A 1110011 B. 110011
Ly By 0 10, A s AU ® C. 1010101 D. 1000111
- 05 (1w} + (1+ww?) & g w7 Ans: B (110011},
B A0 B.I C. 4 n.9 ’ Solve;
by Ans: B (1) D
2S.hnm*ﬁswﬁf-fewhw Salve: (10 +w + w32+ ([owen)?
A, mliwte it (Wow?) 45w | 4wt i
B ¢v.3% STFER € 80,05 G Fe = "I" L] :
C. 32.5% B g v 8% CCly a3z foqe K =51+
D cwrlt 3y nf"imf'; . TR E P e pe——
Ans: B (0w.3% wutm @ ga,o% s g & g!x} Co g. x:—:ﬁ: . ¥z
O SRR 4 ot o e i et Ans: D g A0 B ChRw D —
ERNRL R o e Solve: 9 [| | Sher=yFrgsrpes 18. 52 40 St e e o o o 24
[ T — o e Y mres mocse IO 1 A v Sy s e TR S U W
o Mathematies | = Z e A 112555 B. 1/5255
O1. 7 5ras af g o S [ " < C. 145200 D. 1/5525
A0 Bi= vy B | Mspeq Ans: D (1/5525) \
Cn St Ciz B 3.ﬁ§l25:_._... I | (e Sobe- 2. o e
Pan =ny, My, = .4, L1143 B -_o;.p'=@ L i
s
Ans:D (= I i Ans: A (V37 u'ﬁ 1 A i sz graren p (A) = 7 ‘:TT ORI
I n-r Salve: 0
Selvern, = = | B.1 C.2 D.-1 sial Sl
2 Snay A.ﬁfuﬂm_.l V3 | MS;B“ LR K
02.Cot 5 cot X o 2 o Z g5 B Bheoe oty e . o W'Htwmmhumm-; 19. (0,0), (22.0) 7 (0.25) g s frow e
0" 2 C.3 & 5
o e ox - llsﬂ.-nﬁ:.,w | - ..R'anpm)-%q W.Wf“! BANETH
D'? = o Bt "cp_l 9T Ty Aagt+b =
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e :
T e | 2
mmﬁqdmf‘u
220 wm, C=0 =t
(0 e x4 020 2
=g, (=] =
B u@Ang="
AU e
Ans: B (6)
[ Solve:
t.\rm;u[;rm#m
., - = AT+ 2411
2 A=[ Sme
Al B.-1 C2

Ans: D (0} .
a-fp Al

e AL
=0

DA

| g o=
D.0 %

| 9 4
""[—s-ﬂ
1=[1
AAEZA-TII=E
P L N
n_rm—Tm{x)-a
Afi) Bx  Clx
AmsA(Tx)
£

. r[{}_-%ﬁi

pestazt
rl

D.1(y)

= 4.

ors iRl
B.x~y = (F fepm i
AT  BRE  C e DowsE
Ans: B (=)
B i
v (0.0) ew w0
e
A= {0,12,34,5) oot see i
AD B. 1 C.2 D.s
Ans: D (5) i
Solve: 5.
01,2345

A=|
it
o T <4 o o e

H-ﬁ;lﬂ!ﬁ_—;ﬂ,
AD gy
Ans: B([)

Sobve:

-

C2 D.3

XS <sing g
AR |

6,

Py
Species plentarum (33¢2) and Syges

T |
'memmm.

TR 4 T ST T 2
A_wﬁ#mvm B.ﬁiﬁ!‘_m‘
C.wfmreBafE D remns oy el
Ans: A (cBA-FiFE- canfim)

e Sandwith &7 CPTEAfRE TEER
?mmmWMmm

o s G T P ey, iy
coetipTE & WO (R P

) B = ) TR

i) s =y oo

forsE Tl WP A0 FTE

A, TR B. teretfs

C. FCETETE D. @wieE 7w
Ans: D (@FDE 71)

T T P A — ST, T, G
i, Fif = Ty :

i oue

e B, W, R

FAD: SO

it

T R TR 03 T AT 2 ey

A. Tem gt fdm

B. Sere firardif

C. 4531 ¢l rafers TemrfE w

D, e el spifire =

Ans: A (BerT @Eafien g

T b |
T e o

R o w v

S e

s el

e it wr s we
S 5T TRy e e ey
A 5-10°C 95°C"
C.25-30°C

VRS MC-(12-359 )
R0 20-30° c)
ol DNA wi%atcers Sy
A TMV

& B. et
k: D. afewt

Ans: D, (afigzm)

R & i :
il ~ |

mAViWTM"N‘m-“‘h“-m’.m_B
ﬁmmﬁmﬂﬂﬁ‘ﬂ‘maﬁﬁ?

A, 4 SR

B, g AETTE @ S = =y

c ST G OO TR S Ay
D_ﬁ-vnaﬁm\iﬁ??

Ans: D (e fEm W =)

s e T
e, S e v
e Rl i s R
o e 7 e R = (binary fission)
o i T DR S T

g, I TS SR e 9 vh,

CAL ST (BRI ST B WO

B. &t coemrerrae o Sw0E core EE A
C. remmenets a5 o3

D. e W

Ans: A (% CERITREE S TG ST 025)
et

[ comrmn
] WITHIPE V] | T
0 B
= T e 4
ST | e wrgeR
V1. %52 cones et srefrre ot Gt

A. Plasmodium falciparum
B. Plasmodium ovale

- Plasmodium vivax

- Plasmodium malariae
::;_c (Plasmodium vivax)

e el

ete Preparation for

A Compl

| Sodia
T [ 33mabe |

[PEr
il
12, Fwa oS Leguminose oo =s47

Afr B. i

C. trmm D. =@

Ans: A (Fr)

T Leguminosae Tz S=wmm; for, Ssmmery, s,
TR, o, T, P, s, e ey |

3-3

Bt
T

W, o, ST
¥ +
e o % oy
= o s
14, Bacillus Subtilis meoe fos tem s afamies

*Tau AT

(1929 o TS ()
» i fiffers oo s = W panicillium

chrysogapum 098 |

‘« Boilhus polymyxa % 0 Trefs, 0 e
S DR

Tmmwmmmmqm“

bt

15, o oreaTE = Sex chromosome 4R
Aaef Boee®  Cxf D. s
Ans: C (2 )

T AT AT (D DT 2 T, W WO DR
“mg_mm:wﬂim

16, Fruit sugar 71 %0 ¥057
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;” ot ey (Cethlase) ATEIE T
e TG T
|5, Sy ToTs TR B
A Genetic diversity
B. Species diversity
. Ecosystem diversity
D. Population diversity
Ans: D (Population diversity)
e
= - w
9255 = Nanons! pard, EcoperA, T55% )
) 3.5 wewarre: Batwmical paceden, Seed Bk Fickd
geme bk T
19 @ Metaphire Posthuma) &= e o5
A Porifea B. Mollusca
C. Chondara D. Amnelida
Ans: D (Anselida)
T Anmelidy <o W o0 S
- T T
e et 55 r o
- e T
eI e
B i) Methaphie: posttmma (o)
) Hirndinaria (oob)
20, TR 2 7 gland 2w By
A Liver B. Pancreas
C Kadney D. Stomach
Ans A (Livery
bl i o3 g

e

R v
. n;mm;wwﬁwﬁz«

=t
A, fir wEEE B. 7m% Wy
(':qt T D. =T = =
. (T 1 SEEY)
o e R < s
23, 4= = Ecosystem 87 ST Ty -
A Phyvtoplankton B. Zooplankipy,
C. Weed D. w=ElE ay
Ans: A (Phytoplankton)
g, PR TYACE:
3) o wETITNSR
) o ; e T TR
et o 00 008 T (7%, T, wry
Pt o ¢ TR, O, (TN, T, 00, Sy
) e TRGAT O W 0
FerreaTs TS TSR T A
14, Solanaceae TEE Bfw R T
A. Hibiscus rosa- Sinensis
B. Atropa belladonna
C. Dutura metel
D. Nicotiana tabacum
Ans: A (Hibiscus rosa- Sinensis)
T G (Solanaceae) DI 2w we Beme
= Solamm mberosuC. (T =)
= Solannm melongena (Fes)
= Lycopernicon lycopersicus (Boed)
= Datura metul (g=37)
= Nicotiana Tabacum (=r%7)

25 fedw e -

1L

4,

5.

C. an optician
- & Reurologist
Ans. B (an apllth::]mnlngisl]

- Getnid of means-

A Listen

e, Express

Ans. B (To be free from)
“Sky" is 10 “bird" a5 ‘Water” is 1o.-
A- feather B. fish
C- boat D. lorus
Ans, B (fish)

B. Ta be free from
D. Pretend

- Which one is singular number?

A, Lice
C. Phenomenon
Ans. C (Phenomenon)

B. Erata
D. Mice

. The word “homogeneous” means-

A. same kind
C. same race
Ans. C (same race)

B. same place
D. same destiny

. He had better — that medicine regularly.

A took
C. takes
Ans. D (take)

B. not took
D. take

+ If I'had much money | — you some.

A would give
C. gve
Ans. A (would give)

B. would have give
D. give

2. Man cannot live alone. The word *alone” is

word used here as-
A Adverd B. Pronoun

C. Adjectv, D. Preposition

The synonym of the word *Brave' is-
A. Gallant B. Cowardly
C. Fearful D. Incite
Ans. A (Gallant)
The antonym to the word ‘Rectify’ is-
A Adjust B. Improve
C. Doctor D. Damage
Ans. D (Damage)
D°_|101 make a noise while you father—
Ais sleeping B, has slept
C asleep D. is being asleep
AR, A (is slecping)
Julia has been i) -— three months.
2 slrce B. About

2 D. For
Ans. D (For)

© Who studies and treats the diseases of the

eye is .

Aa Cardiologisy

Ans A (Adverb)

. Choose the correct active statement of *You arc

requasted not to smoke”.

A. No smoking is requested
B. Please do not smoke

C. You need not smoke

D. Smoke not is requested.
Ans. B (Please do not smoke)

. Choose the correct direct speech of "He wished

that he might have a glass of water”.

A. He smd “Let us have a glass of warer™.

B. He says, “Let me have a glass of water”™.

. He asked, “Let me have a glass of water™.
D. He said, “Let me have a glass of water”.
Ans. D (He said, “Let me have a glass of water™)

. Words : Writer

B. Honour : Theif

. Butter : Baker :
4 D. Laws : Policeman

C. Child : Teacher
Ans. A (Butter : Baker)

B
an Ophithalmologist e A daition
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University

. Technology
- chali Science & Teel™
Noakl Sonspur. Nuak}lah-.'*ﬁl" C. 7693kw D. 1308k
Admission Test Exam Ans: C (7693kw)
Session - 2014-15 golve:
Unit-B mﬂ
] Full Mayks. 100 =T
Time: 1.30 hours s e w é‘”-ﬂlz B 3
- A, ST oS B. Sieny S =— w0 - 970,76k, T17Hz
S TR VY ., e HUEEA D. Bwrzg il = 7693 kw Ans:C:‘QTE}_?GIb} D-97.2Hz
e et FifdR BT ST SWE a7 oy Solve: f1 = ug
" Ans: A (STETR SRE) 12,78 i Tl [y
| R =63+ kamB=2i+2+k W, 5 Solve: s - 4w “ e
a
A:Bervmee? 7. @ vS G 5000 TR OHl fify AT :E; :: ::"7-"’-5’*1‘@ =970.76 1,
A 10 B.8 EE RS 2 | G W gy gy c,c‘;f = ) DRI i
C.12 D.20 A 4,|6X|[|4}"| B.1.16x ) Ans: fﬁ’“i 7 . i W‘Zﬁ‘?ﬁamwﬁ-mx
bl C.4.16x107%y D1 Wy 13, G AT ARG GIFCRAE T2l afe 2y oy ST TG 2000 177 e e | v 500
Py e AI e eie - L16x104y Firsa (RATDR SRITE G7F - m%mwﬁm, e e
2 @&w ot e Tow [ fip wEem e -T-JS‘_ _( N Y) A fefe B. zzfe Addn B.6 dB
480Hz | =ee & w7 5 Freeew fem T _Solr‘"t"“xz folk:cii C8dp D.24B
0.75m 1 ST TR v T SSss D, g~ gfi Befe ;?SZBM dB)
A. 720ms” B. 600ms’ = 3 166667y ns: B [GF9) \ ve: 47, 300 %3 w Bt =
C.360ms’! D. 320ms” 3 i A - J— o T = (500 x 4)
=3 % : i gt AR | 1.6x10%ev el e Saivm =
Ans: A (720ms") e .1 felley 2o it 200 35 w iy = 47
b i =4 -1 A, 358x10" kg B.37.5% 10 L B T ——
e =416x 107"y ¢ 3x10%%g 3
Sobve: =075 =1 =15m 8. 400K s e DASSRI0 £oeov = oo = 0 log (7
wwe=fl s LRI 7€ 300K =1ty guf By X kg w00 = fspn = lﬂlog(T;]
=480 X 15 = 720 ms™ et RS | e THEE T e | o iy, j"ke) 5 SRR = 6d8
3. "GW wE e Rk Semer we we whest mmtﬁwﬁﬂﬁhﬂamar?(m“; 1. 79 7708 9% T et wa .
w3 e s s new W T - ffelt a=5.7x10*Wm7K) x16x10749 FLEePuS 1 st Wt
Frew e Feandiy A.760Wm? B.997.5Wm? GaeE B. ¥ - 70 wrm o o
AT B. 26w C. 997.5Wm'K! D. 760.0Wm'k! | 7.5 % 10-34kg C. &% e o g 1
C. A= b, o Ans: C (997.5Wm™'K) Bl 18048 e o 7we ST 11 2kms™, e == D. o w2 vy Bget o ey
Ans: D (cefen) Solve: Ty = 400K, T, = 300K < Tt v Ty o aret (=8 78 = wwra 1)
Solve; T=57x 1078 Nm2g B A 52510%ms! B. 6.18x10%kms"! 22. 3l T afio e e s e 5o
4. " e «fs Trgm s v wwem Qi?fﬂ‘i“" C. 5.2x102kms" D. 6.18x10°kms” A 99°% T oy T T Ao
FREE T e wenwEE § 2 oy Ee _2(400‘—30114) Ans: B (6.18x10%kms™) 28°C 12 07 TR £ I T A
A0 B. #emS efm 9. 10°C Ww polvE: A.24°C B. 24.47°C
C. meremnd sfeg D, werem : i Skg vrrﬁw_;.gﬁvc @ 8 | - ¥e=20,K, C.I*C D. 1.47°C
Ans: A (50 T G e TGy (FE ST e _[g, =274 ms~%,R, = 6.9+ 6 % 10° m] ;ns: B(2447°C)
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hic 18cm, smms 524200 x| i
: B (12em, 1) Lo =) |, Aas: B By A. 300w B. 220w
e T 2]K T.RADAR « corfs zrege 2y C. 110w D. 250w
;=141 TS ey w5 A. Ultraviolet R Ans: B (220w)
5 A Ipm = 2rad _— C. Infrared R =g & Cmuaia ReyS Solve: P = VI =110x2=220w
B T B, Irad = 573 Ans: D [Migre W D. Micro Waves 24, 220V, 40W <=2 110V, 40W oot oS Ereralim
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- = f : A w67 Ans: C (41)
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- RO g g e Y oMo gy et | C.1.05%1 07y pt PR Solvet Py = = 5=y Uy =0
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Ans: A (v oS 7) _

Solve: w =mg - Wxg
WMW“WW““'

T ChRRtye s U
i oot [1-A (7 ot T e A @?
A, Be{OH)<Mg({OH):<Ca(OH):<SHOH)<Ba(0H):
B. Be(OH):<Me(OH)z<Cal OH)z<Sr(OH)<Ba(OH):
C. Bo(OH)sza{OHh‘CMg(DH}Jd:ﬂ{OH]I

D. w@RGE W

Ans: A (chmmsmgrouhﬁom.—csn(omﬁwonh}
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. fama @D

[
o [ M50 [FER eI | MO | Wk
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T w aET
g
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= o e
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2. o v co e e e
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C. o s fw D. e « fags

Ans: B (#17, fors @ )
s W B > e (50:61019), o (19-

17.2%), B (30 :
“."'r (30-21.1%) Fey Fog 77w ox & o arae

A S TV 8 e o e
A T
C.Totm

B. wifEwrs afds
D. et

A

AT |
Histidine, IWIC:_CI:M. lﬁDCl\l;it Lysine, Mety;
lalanine, Threonine, Valine s grme, o0
mnmm ko i L
Alanine, Arginine, Asparagine, Aspariaie o
Glutamic, Nithine, Proline, Serine, T}"mﬂi'ng
FRILST ST gy
A. CH:CH=CHCHs B. (CHyy
C. (CH3)C=CHz D. chgﬁi‘C{cnlh
Ans: A (CH;CH=CHCH) ~Clcyy,
S R s TN R e o g
o O e T e e Ty
Cis 791: 7P el e @92 fovr e |
o, g

3 o, S o,
et "1'(_’
o 1) et (L
wp  mH 1 1
o
" " r
| O e A ] o
Trans 7r: e e s o
o, 04
R23
T
Varn L] et

.

o $%y
Truvs dutane gl gl |Pemers poid] T
.Tmns-Clsm'hmﬂh CHy-CH=CH;, CH:=CH,,
CHCI=CBrCH;, CHCI=CHy, CH:=C(CHj), CHy=CBy,

. TR STTEET O IIHE (R W G TR Ty

m L)
A, Teferar B. fm
C. e D, snfa

Ans: C (&)
AT
om | e wd
He | =mom, ]
L]
oot fume TR AT
feferyrm o s T
=w, s e A
| Tufare TEEE !
e e
T W
- o @
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e w, T
T i
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s
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FEGEE P
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plete P"!]Iantin. for NETT: 2o

AREET 0
Rn ol .
5 T I

. 4WWN?FWWW
" g T e

h.q'ﬁ"ﬁ il B. frfrm afire

Ans: C [FIRETRSTH

e EarE pH = 6 ¥, 2§20 R
B B -6 T

A 10°M B. 10M

c. 10°M D. 10°M

Ans: C (10°M)

v et pH > 1

7% pH > 4855

Ly

7% > 74315

.Wﬂ-) 8.1

e D

A.-NO B.-NO:

C. D.-N=N

Ans: C ®

Ac H, -OH, -SO:H

ja s =NHa, —-NHR, -NR;

TR CorTE Afe T 0% WSy
n CareB FRTera ST | AT (ST SRR N

A. 100
C.50
Ans: B [70)

B.70
D. 30

. UG S (4% (3T ST AFT a9 w0

B. firure

: D. e 7w
Ans: B (frarw)
A Water gas - Mixture of carbon monoxide and
Reaction - CO+2H; - CH;OH

For higher alcohol = nCO#+2nH; = CaH2a + (n-1)H:0
Ex: 6Hx42C0; > CH,CH;OH+3H:0

12, 7072 g H ofaranegs mené 291 0.53A 1 992

WG Li® e (o e = 3) W
i

A.053 A
C.0.17 A

B. 1.06 A
D.1.53A

Ang: 3
L p— - owy 1.03 1 @bz 1L T

T 36.4g v W rew oF1 3 M

A TR e ey

il B.3534
<0353 D. 3.05

Ans: A

14. % ofrg
Eﬁwmﬂmmﬁﬂ“‘
e cm arr-

(ii)42-63 (i)35-70
B. i, iii

A Complete P
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e
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. Frtn woew
= 2 [E0-i00
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i T ES
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Ans:B(MW’fm .
e e T
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C. 5-10% D. 0%
- A (3-50%) )
xmﬁ‘ ﬂ"‘ﬁﬂﬂ“ Frf3 (-22)%
ot cam T 3 (AEE)
s b AW (T8
i ! o) TATE TN T | B4
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T FATsy
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19. Teefie o oF: B. M0 NL
A, D afrE B. A, Ber1 D.C | = o e 3 -
pileads D, g 4T C. HH!(‘H bi - CHy4 | = () 13 (5. ”n 0
Ans: A (0T 4FE) Ans: B (Hs | =0 (a3
mmww‘m'm’moﬁ - e S
3 | =2
m‘“‘ﬂwmmmoﬂ “A+B=mn’ :
: I'A+B'§m-¢05'l‘\-ms’3ﬂmw
o Sitoll p
a 10,96 COLA-tan A T ey
| n'oﬂm | A :IHA‘cg;A sinB+cosB &, A+B v wy
B a2
mﬁi' C.in
; A 1%He B. 1.84% He : Ans: B (n2) Rt
O C.2.7%He D. 0.93 % Ar lf(x-ﬁ)--—-itﬁﬂﬁ)ﬂwaw T _|
X - SinA + CosA =
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Ans; D (+6) i A24v3 : B,-13 Ans:D(4.2) i
A MO, Mh% S C2+43 A i mmmmmwhumﬂma*wu
Therefore, X + (3ug T—— 4. R oy " 4,2) ¥,
Or,x8=2 : A;ringesy - B ;:.’i];;ulguo
-L B={dn+1)w/2 + 4-8-12416=
: B :
mplete 0=0 J
paration gy, NSTU Aqm /w/’—-—_
: issh X TU Admission
m_ sl on _-— ‘A Complete Prepmmnl'orNS



/

S, TR Y Y =

15,4 )g.;evge
AD
c.n
Ans:B(12)

Salve:
y=1ix)=2de* + 57
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TR e @ ey R
G, G-y 8
. A 4 AOSF () A S =1
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8 Ro2>L -519

aF=f — A

$ SEBL

9.8ms" 173t wafh NAAT Bota ews ot

XA, afS TS I A oS e iy

(A) 5s (B) 2s
(C) 3s

(a) 0° (B) 45°

(C) 90° (D) 30°

3 % si7re uey Ty SUF, 10uF, 431
1|F 9t7g &dw ¢ PRt aifics wige st
RSifba e s e w2 SIEE)
R? -

(A) 9.9uF (B) 10.83uF

(C) 8.9uF (D) 15.5u1°

@36 FITCO eow BIFIRA @Y I
8Q, 12Q, 16Q, 20Q, v9¢ ArFa e T Gty
i ge Faea ft Ay Ay
(A) 20 Q Tiffrs (B) 4Q effars

(C) 24 Q TN (D) 20 £ R
6630x10~10m wgwt tHrdia s @i
¥ 9?7 (h=6.63x10-34Js)

(A) 3x10-19g (B) 10J

(C) 3x10-10y (D) 10x10-10g
AT TN SLER INF (@A ?

(A) ZTTRG (B) TG

(C) =T (D) &R
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(A) wabeER (B) 72 7w
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(A) F=0 (B) F=qvB

(C) F=a (D) F=qvBs
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(A) ST (B) Tool

(C) spifrmts/ o= (D) Tzt

R Stae a0 TRy

(&) F=qE+qB B) F=VE+qVxB
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(A) Transformer (B) Transducer
(C) Transistor (D) Generator

100 % Ffrd «3ft Foiive 5a Sfye=ig
IS T 0.01wb TIRT F1H Seog 277

T TR WA eiTes T 7
(A)5.0H (B) 0.2H
(C) 0.5H (D) 2.0H -

@3 Wit afi@ sret Ak TS 480 nm
20 I (U=1.5) ©w MG T 2

(A) 480 nm (B) 380nm
(C) 320 nm (D) 120nm
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19.

e e «w-@ o7 SRt e Afeme

(A) 10711 t0 10-15m (B) 10-7m 10 108 m
(€) 3x10°m to 10-1m (D) 10" ) m to 10-3

TN I «f W fwr @it T in o=

Ty |
(A) TS5 (B) FIRES
(C) SRS (D) TR Sy

WL (TO1 A& o7 A 150m, 97
TR T2

(A) 2MHz (B) 4MHz
(C) 20KHz (D) 6BMHz

AT BTG PRI g Wrww I
&2

(A) TrEASTTE
(C) =LA

(B) 5+
(D) Tb&

sp3, sp2
Sy @M @Eitre?

(A) sp? (B) sp?

©sp (D) SRS Tl p G
BIg affe @ S FIEa <99 ©i% AH 9 ¥
IS?

(A) -14.7 kcal (B) -12.7 keal
(C) -11.7 keal (D) -11.5 keal

wifoa PH it o @it Tagd aag
(A) CaCO3.MgCO3  (B) (NH4)3CE3.
(C) (NH2)oHPO4 (D) CaO

a7 F=icaa w1fea 8w mib ¢

(A) FFT GTIET (B)@RAS 0

(C) foraam= (D) 1Y «rieiaaT 739
0.2g TZTGITHTAA N4 ST AN IS

(A) 6.023%x1023 (B) 6.023%x1022

(C) 3.0125x1023 (D) 3.0125x1023
30mL 0.25 HC1 {34 HCl 98 GIIF ARG I 2

(A) 0.75mol (B) 0.075mol
(C) 0.0075mol (D) 0.00075mol
TN (PIE BfYS BIas I F97?
(A) 1.10v (B) 2.10v

(C) 3.10v (D) 2.20v
iiberrs Bt Siferet APF-

(A) 1-4% (B) 3-8%

(C) 20-24% (D) 60-70%
{1 TRTR @ gesta @ie TR AR
SPIE AT (e

(A) I (B) 11

(C) VIII (D) Vi1

23,

24,

<36 10eV ILTIHT De Broglie w7 ?Wﬁs
TE?

(A) 1240A° (B) 1A°

(C) 3.88A" (D) 0.55A°
@ A Teigs

(A) FET (B) Transistor
(C) MOSFET (D) EMOSFET

25. @6 FIARTHEE 0=0.98 QI WL I

1.5mA I I IIRD IS 2
(A) 7.47mA
(C) 1.47mA

(B) 4.74mA
(D) 1.74mA
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12.

13.

14.

15.

16.

17.

18.

21
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(A) wm (B) 419

(© e (D) TIENTSH

(A) T st (B) teTrRw Wt <l

(C) TS g (D) TG ¢St

@b e e

(A) I (B) 371 |
(C) afear (D) Tre }

AR A0F TLCGITHCHA NAHD 0@t F9 7 |
(A) 7.4x10-8mol/1 (B) 1.4%x10-8mol/]
(C) 4.0x108mol/1 (D) 1.0x10-8mol/1

GIRETA g ©fs gy @@=t
(A) ZnCly (B) HpSO4

(C) NH4Cl (D) s
[SIRERERCICR S

(A) AT (B) 3

(C) 2 (D) &=

PETsta NHg3 194F HNOg Nﬁa "l"’ﬁﬁ:‘ﬁ
Tt Th-

(A) Solvay Process (B) Haber Process

(C) Ostwald Process

(D) Contact Process

TP SCET AfPa ol ? |
(A) TS «bTe (B) Trb1fd= wfste f
(©) o afie (D) Wiibe affe
Te AP S TR I8 W=
(A) CHy (B) CoHs

(D) CoHz

(C) CoHg
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(A) T Rtz oty (A) 3 = (B) 2 =irg
:2)] mo' F39 “1 Hd s
3 - ' 24. FfeT AT (Mg a7 TCAM A 2
(D) B sfrwy (A) Isoprene (B) Ethylene
20. TN WERRITT wrifreg A oo (C) Propylene (D) Styrene
O o SCHO (B)CHyCH,-cHO | 25 T TUH &7 @ catafy
(C) CeHs-CHO (D R (A) m-:)lkgi1 (B) molg-!
21, mwsﬁ@mmzqwm- R s l*
(4) it (B) By i O
(©) ST 1S T (D) w1l i 6C | 7A [ 8C T 9o 0B
22, %ﬁmﬂﬁrﬁmmﬁWW? 1. A| 12 3. CT12¢C |15 A
(A) DNA—RNA (B) RNA->DNA 16. CI 172 C [ 18 C 194 20 ¢
(C) RNA—Protein (p) TR 21.B| 22.C | 23 °A | 4. A 195 &

et

| 9. a «q @I W (L+ax)8 @@
(A) O (B) V2 %3 qaext @l s A g
Qe (D) & (A) 5/4 (B) 4/5
2. |x~2|=1 97 A7 2e— €) 16/5 (D)5/16
(A) {1,3} - (B) {2,3} . : 10. =[G wid T3y
© (1,2} (D) {2,1} - (A)SSin(A+B)Sin (A-B)=Sin2A-Sin2B
3. p @AY TS I _ @®) CO‘S{A+B}COS[A—B]:Cosgé-'k—Sinz B
p+5 3 ' \(C) Cos(A+B)Cos(A-B) = Cos2B-Sin2 A
-2 p)_ = BT Wiffe 23 (D) Sin(A+B)Sin(A-B)=Sin2B-Sin2A
(A) -3, -5 (B) -5, 0 11. WG Jfdwe
(C) -2,-3 (D) -2,-5 OB iR 1-tan2A
10 s 23 " e S2A=7 o~ -
s wfra=(g 9 =3 o) =, o ane ) Lrtana
2 0 (B) cos2A= 5
(A) (% g - B Lo 0) L bt 3
. 3tanA+tan® A
20 (C) tan3A=*—1—73———27\——
i (8 0) . | | Bta-mgirt]ane'A
5. TR 8 AATAT W A Tk e e T
(A) Mpr=m! Mc, (B) ™pr="cr/rl 12. MM sinB=5/13 T, O cotH=>
(C) miMp=Mc, (D) Mpy=riMcy (A) 13/5 B) 12/5
6. k OF T FO LA (k+1) x2+2(k+3) x+2k+3 (C)5/12 (D) 13/12
. _12
At aofd 94 2 zzae ©RR cotB=12/5
(A) 3,2 (B) 3,-2 13. Ao W Tl ey e
(C) -3.2 (D},—S"z (A) sin~!(sinx)=x, I~ 1<x<1
7 ncofﬂz*“ﬂ# ----------- : ;)- - . (B) sin(sin~1x)=x, T~ 1<x<1
{‘é} gn“ (D) 2n-1 (C) cos(cos*‘lxlzx, T 0<x<n
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8. fawen s #fow? (D) cos
(A) (14x)1=14+x+x2+x3+......... 14. y2=2x3 3047 (&R fere »rfafb 4x-
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x2=4ay R0 Tfyre »e TlFad-

(A) x=0 (B) x-a=0

(C) y=0 (D) y+a=0

v T ATTCRU sigtovg TR TW, WTE-

(A) mymg+1=0 (B) mj+mo=0

(C) my=my, (D) mymo=1
e @ e wide war

(A) e=1, HRYG (B) O<e<1, ©1@
(C) e<1.38 (D) e>1, WY

- = - ;
A, B €3 C 1597 ¥z, Fea @A wdky
Qe

AWAxX(BxC) @®A.B.C)
©A +B .C) D)A B +B .C

=3 A e
i OA =21 +3] -4k «32 OB =41 -3§

._.}
W, B4 |AB |=?

A
+2k

(A) 4v19 (B) 2v29
(C) 2V19 (D) 4v29

W f(x)=\x(x-1) 432 :R—R =4, O f(x)
IR (G-
(A) (—ct,0] ¥4 [1,0)
(C) [-1,1]

(B) R
(D) (0.0)

(A) Restriction endonucléase
(B) Amilase

(C) DNA polymerase

(D) Phosphorylase

1% (I SIZHA TS (qist?
(A) FIfS ©IZa (B) ZLrET ©IZAM
(C) afSta1 Bz (D) =6 ©Ram
Fifefsreeiza Seoifue - wifaiite
cifaffercam 8o (b

(A) Penicillium notatum

(B) Penicillium chrysogenum

(C) Penicillium griseofulvum

(D) Aspergillus fumigatums

Ak

MR ffFne wwafte 57 @ira-
(A) METIFgITS (B) ARCHIAETTH

(C) ez " (D) AIZTTEICH

t5x emfs B @iftw By

(A) UAA (B) UAQ('?IW s
(C) AUG (D) UGA

-(-l——tan"']. X« __-‘\."'
21. dx enr=?
SX eX
(A b B) 1-2x
& eX .
@ 7355 (D) 2%
22. limx—y0(x~-sinx)/x3=7
(A) O B) 1/3
(C)1/2 (D) 1/6
I
23. [ 2 . e
0 200525
(A) O B) 1
() 1/2 (D) V3
24. (1101)p—(111)2=?
(A) 110 (B) 100
(C) 101 (D) 011

25.

(_CI S-incr., g

Corr. Ans. (A) 110 |
u Mt @32 wWighnes A o 1313

&5 Fwga FAIw THO CMRITAR FaE-
(A) 2g/u (B) 2usino./g
(D) u2sino./2g

10.

T W SISITS T 7+
(A) B (B) &R
(C) Tfm (D) 995" !
TR A et e Prsse =7 e
(A) Gofm (B) T .
(©) W (D) DT s
I@? ;
(A) JITC (B) TV
(C) qwqITE (D) IEBTHIT |
FAISLT AYOFR AR i
(A) arerIfET (B) sy
(C) TotfsrmIiGaT (D) ™R &3 l
@ RERA e 3w Ty ]
(A) 2% (B) 3%
(C) 4% (D) 5%



: TH G
11. T TR By PRRER atfer 20. WM awe @y
(A) Progesteron (B) FsH :
12. TPTRT I Wt pat et v s (C) SR (D) ferq
(A) TR (B) ey 21. 'In vivo' *It5a e &y
(C) RNyt (D) Tifemy (A) TRUTHR “ATe*t (B) 71w fowrg
13. WPTLY FHER o3t sifmier_ (C) TR IR (D) TTaA Borez
(A) 3.8% (B) 3.21% 22. S TR TR 0T SAfi-
(C) 3.75% - (D) 7.65% : -3 fA. B) R.¢-8 f,
" (A) =% (B) R
14. MR T Hen 3wy (©) 8.¢~ ¢ B (D) b= fA.
(A) 38 (B) 2% 23. ABRNS T g3f-
[ O (D) S (A) TRBREN (B) ©iZam
15, (P bred A s ey S — T
(A) S, M. G,.G s L el
© Gy S G;‘ A EBD]} 1\};%‘2'(91' M 24. Fva cemafl oriam wifte @ S
» o + 9 1, Gy (A) Tuberculosis  (B) AIDS
- T Rt @m it DNA FA0ege 379 (C) Anthrax (D) Tetanus
. (A) Gy w1 (B) S Wi 25. fAtea @ WBt® *Molecular Scissors' I
. © Gy W DM wt " LUl
17. WpiTeRmt AT Sy wift— (A) Amilasc engyme
. (B) Ligase enzyme
i (A) S1Z77 (B) =i (©) Régrs;tricti@'n:.-énzyme
! (C) AT (D) SATATG] (D) Protease/enzyme
18. P W Srar etz ) 2SS
| (A) Hibiscus (B) Agaricus 2CAN@A | 3.C T 4B | 5 C
. (C) Cycas (D) Ulothrix 161- 'i. ]7; = % D] 9C J10.A
_ N | 2 C 13 A 1. A 15 ¢
19. Wm?mmﬁvawvmmﬂ AG B[ 17 C T 15 T 550G
hEURLE ' @1 B[ 22.C [ 23 B [ 4B =0
I (A) 2 (B) 4

(SN ;]

e @ W AR T

B) 419 ol T
CEIEY S
2. TA069 AR AT6F A R 7. ‘vERafier ity wd «
(A) 7 (B) T (A) SPISFISE  (B) “frel o
(C) et (D) R » (C) g (D) IRt S|
3. 'Quarterly’ ¥ FESIRT = @t 8. WO I I T T v A
A) o (B) M= SIS (4TF FASILA LT Wt T 2
) T - (A) 343 (B) 3598
€] N _— e[m@m9 (©) $»au (D) 54¢
L AR Al T s 9. 'Overrule' @8 ANET &% D2
(A) F&ZR (B) fewm ' (A) wIEE S (B) el 7
(©) FgzE (D) TAEHBI (C) wifem w1 (D) Wi <l
Lot ot fRE @uw MR- o 3 6 3 10. “TTCETH TTIE WRCTH 37~ Qoterna we vz
(&) wod (B) WH4 (A) SN e (B) e e

i (C) st G
(C) W\'?@"lﬁ (D) \20’[6 (D} o ~mrg 39 9 ey



LR s LI ] ﬁﬂ WY
- : LR
11. oot e wafb sifadee qa =a- 20. The fat man is trying hard to --- weight ‘
(A) wetrs (B) *mIIS {a) Jooag 131 loss v
e (C) lost (D) lose
(C) eI (D) Fafiezm 21. Study of languages is- '
12, N AIFAY AL (T SIER @A) 719 (A) Philosophy (B) Philology
A) T B3) Bl ‘['C) Theology .[D) Anthropology
e 22. "Justice delayed is justice denied" wag
(C) r$Me (D) vieFs stated by-
13. Paediatric refers to-

14,

15,

16.

17.

18.

]9.

(A) adults

(C) old people
N.B. means-

(A) note before (B) nota bene
(C) note by (D) note best

I will call Nahid as soon as I---- any
news.

(A) heard (B) hear

(C) hearing (D) shall hear

A rolling stone gathers no moss. Here
"rolling" is— i

(A) a gerund (B) a participle

(C) a verbal noun (D) an infinitive
The speaker failed to make the audictice----
-=- to him patiently. Choose the.correct
option to fill in the gap.

(A) listening (B) tolisten

(C) listened (D) disten

New programs will be---- next week in
BTV.

(A) telecast (B) Publish

(C) telecasted (D) broadeasted
Which is the correct transiation of '"ToG
MW & MAI"-2

(A) Giving oil to head

(B) to carry coal to Newcastle

(C) to carry coal to Olcastle

(D) to carry coals to Newcastle

(B) children
(D) women

23.

24,

25

(A) Shakespeare

(C) Gladstone

Which one is plural?
(A) News (B) Princess

(C) actress (D) princes
Select the correctly spelt word-
(Ayquestionnere (B) questionaire
(C)/questionnaire (D) questionare
Corr. Ans. (C) questionnaire

None came, -------2 .
(A) did anybody?

(C) did he?

(B) Bacon
(D) Disraeli

(B) was it?
(D) did they?

2.B ; 4. C g
B 7. A 8. A 9. A 10. D
11. D | 12. C 13. B 14. B 15. B
16. B| 17. D 18. A 19. D |20. D
21. B| 22, C 23. A | 24.C | 25.D

TR



e

A. Hz B. wm™

C.dB D. w/m

. T G @1 3m TS AT, [0 e
CRTS TS 7T |

A.3m ] '

C. 8m

B. 6m
D. 18m

OpF a7 46 s e Serart =t =@ |

SR TG (RS Fz—
A. 1pF B. 3uF
C. 3/2pF ~ D.2/3puF
8Q Wity a3 SR s 8 B W fow
FE GUIRE TSI AT AT 97 20
T T TS JED
A. 0.2Q B. 0.5Q
C. 20 D. 40
9F TN Afrem W Wi @t

2.0x10°ms™ | 2F5wr oty efovmr v
{Cq?

A. 1.00
C. 1.50

B.1.33
D. 0.67

14.

15.

16.

17.

b (e Y
@Wﬁﬁmmeem%ﬁﬁ%m
: T, R -0b-5 8
mww(m)mww
: R05E-Y
Pr- A
T S 6y T Yoo
' 9. G S comfRT G TR T AT e
mwmﬁ@ﬁ% e TS 10g | 5% WY *tar 97 ©7 3~
T | JEToR ﬂ%ﬂﬁwquww A.2.5g B. 4.89¢
& (o Tarw C. 10g D. oWt
A 12 B 3 10. SA fEx ez fesg e sty
C. g ' A. 5J/C B. 5V/C
. D.9 C.5C/S D. 5W/S

Wmﬁm@ﬁrﬂmmwe 11. st {8 s fuss coms seafirs
mwmm@- A. 515 - B. «ife

é. 80 B. 45 C. stz D. &7

] | D. 30 12. 4 = NG oS WikE it s

6000 ex157 93 cxisy 10 TS 5 Ao I 16 7t RS AT 27 2

T S A. 6441s B. 32A/s

A. 6.1x10'7 B. 6.1x10%] C..164A0s D.4 A/s

C. 6.1x107] D. 6.1x10°] 13, Ty Afidics DTS T A fréw

: ‘m@@wmmww«ﬁwﬁf? “ o

D. T 90T Sog
%@ﬁwmﬁmwﬁ-

A. A=hv/m B. A=h/mv

C. A=mv/h D. Av/mh

I fee eaiem =I(t)=20 sin(62t)
X, O YR 7 g ey

A. 150Hz B. 100Hz

C. 50Hz D. 75Hz

B. 9 rad/s
C. 3rad/s D. 36 rad/s
@ g s e 4m



A. mo<m B. mp>m
C.me=m - D. my<<m

19 «a;i: MRARUUR £ 5 < T O p—
LT M 1T o Rer ek ™ Vi
mﬁmﬂ%wwwﬁww
TS TR?
A. 12V B. 1/4V
C.\2v

A. c=f/A B.c=fA

C.f=ch D. f=)/c
23. (53 & 535 Rone vie 3w

A. EoTmR B. 35 e

C. TR Dg S icn

24. G GERESEE eRRA® B=100 q<k
IB=40].1A-{CETIC=?

A. 4500pA B. 4000pA

C. 4050pA D. 4550pA
25. FET @3 ¢t (WG 7ep?

A. I 736 B. azw a3

C. 72f6 125

D. 72for et araga war am A

Answer Sheet
1.D 2.A 3.B 4.B 5.D
6.C 7.B 8.C 9.A 10. C
11.B 12. D 13.€ 14. B 15.B
16. C 17.B 18. A 19.C 20.B
21.B 22.B 23.B 24. B 25.A

10.

28

mﬁwﬁw“ﬂmﬁmw
A. 2-3ppm B. 3-3ppm
C. 4-4ppm D. 1-3ppm
e A ey -
A.  Aromatic compounds are free-chain
compound

B. Enantiomer shows geometrical isomer
C. Scientist Houckel proves a theory for
aliphatic compounds

D. Al arématice compounds are unsaturated
TCOTTH S ARTHAS S (ofeiS?

A. 3-Chloro-4, 5-Dimethyphenol

B. 4-Chloro-3, 5-Dimethylphenol

C. 2,4-Dicholoro-3, 5-Dimethylphenol
D. 1-Chloro-3, 5- Dimethylphenol
v Gigfs <ee Tge Fotre sivwm?

A. Hydrogen Elctrode

Bi\Standar Hydrogen Electrode
€. Zinc Electrode

\D. Calomel Electrode

ST QBT TR RITAF AT 0 Xorery

A. 4% B. 5%
C.7% D. 3%
5gCO; N NTP-1e WRes 7w?

A. 254mL B. 2535mL
C. 4535mL D. 2.545mL

WWWWWWW?

A. Colalt-60 B. Colalt-11

C. Uramium-235 D. Pu-171
i? Si lﬂa':;; P % SR oo

A. Isotone B. Isobar

C. Isotope D. =wwitE w7

SP? st sifye Tt RD?

A. H,O B. KCl

C. HBr D. NH,Cl

SP? stz iffw Gt ceD?

A. BCl, B. NH,"

C. BeCl, D. C;H

AT @ CsR SSrrers sy

A. Na;CO; B. K;Cra0O4

C. H,C,0,. 2H,0 D. H,SO4 g



o8
12 iﬂ‘iﬁwﬁﬁﬂwﬁmw;ﬁﬁ{mm S LR LR e —
: - T =Y A
13. e Wgﬁﬂm ik D. _ I?ﬁ: A, ORI BT (76 B, St (o1 e
mﬁqw"aimmﬂ 3011Kjmor! | 3 0g C. oaw D. ©I% g coivon
e E B ooty 7y 25. FAuow G ot fiver eene it g
.-115.8K]J »B. -180.7 A. Fe,0 B. FeCO
C. -277.64KJ D. -487 e S g
14. B F . 487.61(.] i F882 D F8304
» Dl WIS Be 2w - RS | Answer Sheet
A, SP3 B. Sp? \IA 2D [3.B [4D [5B
_Csp D. §2p? 6D [7.A [8.A |94 |10A
la.mmmqﬁ-wmw I.LD |12.B [13.A [14.A |15.C
REIREi 1 16. 172B [ 18.A |19.B [20 A
A. C4Hyg B. 0, 21.LA |22.B 23.A |24.D [25.B
C. H D. C3Hy
16. wides X R M R e ek _MEMI_
i‘ﬁﬂi‘ﬁi‘wt@ﬁm;k? L I z=x+iy @, o7 22=0 wi=al &
A.NaOH B. H,S0 I? .
C. C;H;sNa D. Na,$,0; A. g8 _B, % @1 C. fg 9w D. #=rqs
17.%@%@33%3%%@7{% 2 3%
IS TF? 4 5 g
A. TRTAfem B. friige 2. 18,7 8| fafamfn 7 «a sieede v
C. ARy g D. ftits e g A 14 B.-14
18. 0.1M NaOH g P! wve 7 C.23 D.-23
A. 1l B. 10 3. A7 "py=6x"p; W, O n @5 T w7
C. 13 D. 0.1 A.8 B.7
19. 930 ey Rfdrm wdig =1 10min) @ C.9 D.6
R 3w g3 397 _ 4. tan20°+tan25°+tan20°tan25°=2
A.5.95x10%min"' B. 6.93:40%min"’ Al B. 3
C.4.63x10”min" D. 6.96x10?min"’ C. 4 D.2
20. =R TR @R i AR ;ﬂn A e — RPR (-1,2), 2,5) a=
T CREPARR Sfys, ¥reer R ey (3,10) =T 97 CarEE Tw?
fiﬁm B. w00 A. 5 =f aww B.4
C. WS ane D, & qy 4o C.3 D.2
21. fATos PR RTG W Rree? 6. WD RN 41 T -
A. SO3 B. NH3 A. m;=mj B. myms;+1=0
C. H,SO D. w2 7 C. Umi+1/m=1 D. l/mymy=m,+m,
22. TR T AT ¢ T et e | Xy +2gx+C=0 a7 T Saysy?
T gt feea i @it Seviy =37 A X-STF Boicm B. y- Wrwg Botg
A. e o B-’W‘mffz R | - B e D. w2 7
C. =frarrer ik e 8. W y=a'e'=W, O dy/dx=?

23. 44gCO; *UTET ST I FS TA? X
A. 6.022x10% B. 10.044><1023
C. 6.022x10%* D. 0.6022x10

A. e*(1+1na)
C. e™(1+1na)

B. ¢'a*(1+1na)
D. a*(1+1Ina)



Neq
1-i 20. ey @R s
9. wiber oyt Lt g o~ T 7 23 A. -1<s5in0<2 B. -2<c0s0<3
=2 C. -1=cos0<1 D. tan6>0
A. V2 B.2
C. 4

D.-2
10. (1+a-0%) (e¥-1) (©*+1-0) (1+e?)’=2
A.8

B. -8
C.-8w 8 |
11. R 1t ax’+bx+C=0 a7 TPIZ [T 6
TN T2 ;
A. a#0, b=c=0 B. a=0, b=0, c20
C. b2-4ac>0

. D. b2-4ac<(
12, 7% 4x%-6x+1=0 AR TPHR o 9k B

R, O o+1/B @R B+1/0; Ter RfHE Rt
(Saniiny

A. 4x2-32%+5=0
C. 6x*-4x+1=0
13. w59 oS A<
A. In(1+x)=1-x+x2-x3+..
B. (1+x)'=1-x+x¥21-x3/31+..__
C. (1-x)'=l+x+x2+
D. e'=x+x*2+x3/3+. .

14, e 5x°+15x-20y-4=0 wrwa 7 fewel

B. 4x*-30x+25=0
D. 6x%-4x+5=(

..........

A. 3x+4y=31 B. 4x-3y+1=0

C. 4x+3y-1=0 D. 4xgg=l=0
15. (4,5) Repift «xe 3x+4y+7=0_ Seemam

T TG e

A. 3x+4y=3] B 4x-3y+1=0

C. 4x+3y-1=0 D. 4x-3y-1=0
16. (1,0) &= cottenr Tig <=-

A. (0,0) B. (1,n/2)

C. (0,1) D. (1,0)

17. 30 3x-y+10k=0 wilfE x*+y*-10=0 Jurz |

=i g O k=2

Al B. 10
C. V10 D. 100

18. fFwsa A wfse?
A. "Cn-r'{”llcr-l:nﬁcr B. "Cii="Pu.s
C. 01=0

D-ncn-r'!'ncr-lzncﬁl
19. vRf6 afer gz for "THESIS" *mfba

TR T I AT T00?
A. 35 B.5
.11 D.5

21. sinx-cosx=0, 0<x<n/2 @3 P AT

FIHG?

A. o B. n/4

C. /8 D. 3n/2
22. tan'4/3+tan™ 4=

A.tan"'11/5 B. tan™'5

C. tan’' 112 D. tan'2/11

23. T ffre ww iR SwehT cdem s
A.u*/2g

B. 2u/g
C. 2g/u D. vw/g
24. 2, 4, 8 97 WS ou-
A.2 B. 8
.7 D. 4

25. 1239 @& &R 203
A. 101011001

B. 1101101001
G. 10011010111

D. 11101110011
Answer Sheet
W\ ¢ 2.B 3:.C 4. A 5.B
6.B 7.B 8.B 9.B 10. A
11. A 12.B 13.C 14, 1 15.D
16.B L& 18.D 19.C 20.C
21.B 22.C 23.D |24.D [25.C

A. DNA&Fat
C. Protein&Carbohydrate
3. [N 9T 407 -
A. Carbohydrate
C. Antibiotic
4. Fon @R eRart wie art T

A. Influenza

B. DNA&Protein
D. Protein &Fat

B. Protein
D. Cell

B. Polio
C. Herpis D. Cholera
5. oow @R Tt <
A. Ribose B. Glucose
C. Fructose

D. Manose



)

6. ﬂ’awwmﬁrﬁf@wm?

A.¢ B.y
C.1q D.w
7. R o Sy
A. TSHIToT B. 33w
C. wwr D. @wmE 7w

8. mm'wwwﬁ?
A.90 B.85 C. 95 D. wmfog wy

mmﬁmmwﬁwﬂzm?
A. TR B, we-tibws
C. oy D. wrHicrs

10. Sfew SPICOR T4 ST TG ST, o1 Bfgwray
A. Abelmoschus B. Hibiscus
C. Gossypium D. Cycas

11. Feex SR Sz =y «ife Ssiwiy

A. el B. Miz@Es
C. ~Bif¥rmy D. w1

12, Riccia = ¢oiteam S
A. Ricciales

B. Marchantiales
C. Hepaticopsida D. Ricciaceae

13.mwﬁwmﬁmm3wt-mﬂaw
(T A0 ezt 3ty

A. CO, B. O,

C. N, D. H,O
14. fAtea @@ @/ B cafF ey

A. FefgFar au B. T=a@s

C. wrE RS e D. R «ree
15. W TRGIe @& o RINA 1S 94wy
A. SpiTsfaa B. ARG
C. oafaw D. &1
16. fwoa e (AR wiSTeT wity?
A. Navicula B. Spirogyra
C. Clostridium D. Sargassum
17. TR “iesT T (T irs?
A. TR B. Wz
C. e D. TigF
- 18. M &Y ofite W weitefe @2
A. Spirogyra  B. Saccharomyces
C. Euglena D. Penicillium
19. PRI ¢l Anem -
A. Entamoeba histolytica
B. Hydra viridis
C. Hirudo medicinalis
D. Fasciola hepatica

e —

20. T ¥PCS QYRGR T ST TL?

A. Summer B. Rainy season
C. Autumn D. Spring

21. R T TAmT 17
A.Na" B.PO*3 C.K" D.Ca"

22. WY @ R foy wige A o Te-
A. Peritoneum B. Periosteum
C. Pericardium D. Pericondrium

23. fAwsw @G Arthropoda =Itda ety
A. It oy B. =T
C. =g D. =HbE 7
24, TeRs B aify ey
A. ST B. 13
C. =emafy D. @WoE w7

25. oIe [;[F g WReEw T e 7 97

A. Sooo Bfsy B. 30 55
C. sede i D. 900 f5if5
Answer Sheet
1.D 2.B 3.B 4.D 5.A
6, D 2l 8. A 9.B 10. D
1. D 12. B 13.B 14. B 15.D
16. A 17.A 18. B 19.D |20.C
21.B 22.B 23. A 24. A 25.-A

BANGLA AND ENGLISH
1. ‘WWW'WW@W%
S corarey
A. 23S 8 T T FE B, 970 T
C. agfen fam D. Airen frwer |
2. “Rf orere wiem, R frg @ TYCS S,

A. TZSt B.ag0m g

C. SER A D. sifgrer ca=
) W@rﬁw?@@wﬁfﬂmwm‘

A. TS sy B. fadiy «irkSt

C. S et D. @H5g 7w

4. "9 T e, @3p T AT T -
TS Fia?

A. TIrEw B. et
C. wyret D. tzst
5. “svi, B @t Tne i R G BfY &7
A. i B. @S
C. odt D. 3%
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6. et e fof3 CFIT Sy T5e117 18. In which sentence 'next' is used as a
A. TFS B. #ifey noun? |
C. grét D. thiShy A. I shall tell you more about it in iny next
7. “9arrEEg B CFIT &S 75+ B. what next?
A. Toguas g C. He was sitting next to her

D. I shall see you next Monday
Change the sentence into passive
"Who taught you Enlish"

C. f&mmaicm st sepem 19.

A. By whom were you taught English?

g A T T ity B B. Who were you taught English by?

£ TR - g C. BothA & B D. None

o RERIER D. sf@rsg v 20. Let us talk to you, ---—- ?
9. T ot ey A. will you B. shall we

A. 72317 B. fier C. are you D. don't we

C. 3fqmy D. swidie 21. The antonym of "sluggish" is-
10. mmﬁwm A. Animated B. heavy

A. S - B. trieEr C. dull D. slow

C. iy D. izs) 22. "Justice defaVed is justice" was stated by-
11. WWWW? é L‘%im_tc g g%alc(istone

. .. Ediot ). Blake
é' iﬁi' g gﬁ 23. You had better----- home.
) : ANgoing B. go

12. "0 ST, et Wi wig set-ermia ¢ 5y Q Bore D. went

A. I T Frog B. 93 st W vfvar

24, It is high time he---- his bad habits.
C. w7 sqg D, T fwww 75 fowr

A. has changed - B. to change

13. The correct noun form of 'see' is C. changed D. changes
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e on of the word 'Brave' is-
’(Iz;l}l G?;ﬁmtym (b) Cowardly
(c) Fearful (d) Ir}t:lte g
The antonym to the word 'Rectify'is -
(a) Adjust (b) Improve
(c) Doctor ~(d) Damage o
Do not make a noisé while your father
(a) is sleeping (b) has slept

leep
aslee (d) is heing as
E]C'l)ﬂia haps been ill ---- three months.
(a) Since. (b) fEbt_mt
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One who studies and treats the diseases
of the eye is— s

(a) a cardiologist

(b) an ophthalmologist
(c) an optician

(d) a neurologist

'Get rid of means-

(a) Listen (b) To be free from
(c) Express (d) Pretend

'Sky' is to bird' as 'Water' is to-

(a) feather (b) fish

(c) boat (d) lotus
Which one is singular number?
(a) Lice (b) Errata
(c) Phenomenon (d) Mice

The word 'homogeneous' means-
(@) same kind (b) same place
(c) same race (d) same destiny

He had better — that medicine
regularly.

(a) took’ (b) not took

(c) takes (d) take

If 4 had much money I — you some.

(a)would give (b) would have
give
() gave (d) give

Man cannot live alone. The word
'alone’ is used here as —
(a) Adverb (b) Pronoun

(c) Adjective (d) Preposition
Choose the correct active statement of
"You are requested not to smoke.

(a) No smoking is requested

(b) Please do not smoke

(c) You need not smoke

(d) oke not is requested.

Choose the correct direct speech of 'He

wished that he might have a glass of
water' .

(@) He said "Let us have a glass of water."
(b) He says, "Let me have a glass of water."

(c) He asked. "Let me have a glass of w
(d) He said, "Let me
Words : Writer ;

(a) Butter : Baker
(c) Child : Teacher
(d) Laws : Policeman

ater.”
have a glass of water.”

(b) Honour : Theif
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©3. Choose the correct spelling-

A. Propritary _B. Proprietory
C. Proprietary D. Propietary

OX. A paper written by hands or yet to be printed.
A. Hand out B. Handscript
C. Manuscript D. Leaflet

©9. He was guilty --— contempt of the court.
A. off B. of
C. over D. at

o8, "SI YT A (IR’ Translate it into English.
A. I have caught a severe cold.
B. I have catch a serious cold
C. I caught a cold.-
D. I hold a severe cold.

o¢. The story is well written. Here ‘well’ is -—
A. Noun B. Adjectiveqy
C. Verb D. Adverb:

ob. Which is Correct sentence-— 4 ®
A. If I had seen you, I would have Said\hello
B. If I had seen you, I will have said hello
C. If ] had seen you, [ would said hello D.
If I had seen you, I will say hello

o4. The antonym of ‘integrity’ is -———

A. disunity B. dishonesty
C. disliking D. mistrust
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St The childfen =--- their toys on the floor when they
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A. lay B. laid
C.(lie . D. “lain

>>. Whatyou say is all ---- to me; I don’t understand at all,
my dear friend. ;
A. Greek B. Spanish
C. English D. 'Bengali
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23, Cancer cells are normal cells run riot, growing and
multiplying out of -----

A. spite B. danger
C.control D. ‘range

2. Choose the correct pair of ‘Act: Play’
A. Song: Music B. Chapter: Book

C. Page : Novel D. Rhyme : Poem
R0, What is William Shakespeare famous for?

A. Drama . B. Novel =
C. Essay D. "Short story
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